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For organizing an effective teaching-learning system which of the following combinations of
statements would reflect the most appropriate concern ? Select from the code to indicate
your answer.

a) Determining what will be the intended learning outcome.

b) Deciding as to what strategy and tactics will be used.

(c) Formally approving the academic qualifications of teachers.
(d) Determining the evaluation tool to be used.

e) Deciding the size of the classroom.

(f)  Assessing the prior academic experience of the learner.
Code :
Options:

91394313201, (), (c), (d) and (e)

91394313202, (a), (b), (d) and (f)

(a), (b), (c) and (d)

91334513203,

91394313204, (©), (d), (e) and (f)
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(a), (b), (c) 3R (d)

91334513203,

(0), (d), (e) SR (f)

2915334213204,

Question Number : 2 Question Id : 9139433360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In order to promote direct learning which of the following methods would be best suited ?

Options:
91394313205, 1 eam teaching method

2 B
91394313206, Project method

= - .r‘ - -:I l-.
01594313507 Lecture with examples

91394313205, LIscussion session
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From the following list of learner characteristics identify those which will be helpful in ensuring
effectiveness of teaching. Select your answer from the code.

a) Extent to which learner obeys the school rules

=3

) Learner’s level of motivation
) Feelings of learners towards the social system

d) Learner’s interest in sports and games

T i amal iame
@]

e) Prior experience of the learner

(f)  Interpersonal relations of learners
Code :
Options:

(a), (b) and (c)

91334513209,

(), (d) and (e)

91234513210,

(@), (c) and (e)

91334513211,

(b), (e) and (f)

9153394213212,
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Which devices from the list given below will form part of formative evaluation ? Give your
answer by selecting from the code.

(a) Conducting a quiz session

b)  Giving multiple-choice type questions in post-instructional sessions
c) Giving a mastery test

d) Providing corrective feedback during discussions

e) Encouraging opportunity for metacognitive thinking

(f) Grading students” performance on a five-point scale

Code :
Options:
91394313213, (a), (d) and (e)
91394313214, (), (b) and (c)
s1394313215. (D), (€) and (d)
91394313216, (d), (e) and (f)
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(a), (b) 3R (c)

91334513214,

c) AR (d)

91334513215, (b)’ (

(d), (e) 3R (f)

91234513216,
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Below are given a number of key behaviours as well as helpful behaviours of effectiveness of
teaching based on research evidence. Identify those which are key behaviours and indicate
your answer by selecting from the code.

Structuring through comments by the teacher in respect of what is to come.
b) Questioning through content and process level questions.
¢) Lesson clarity implying the extent to which presentations are not involved.

(d) Probing which implies statements to encourage students to elaborate.
(e) Engagement rate devoted to learning when students are actually on task.

f) Rate at which students understand and correctly comprehend assignments and
exercises.
Code :
Options:

91394313217, (a), (d) and (e)

(b), (c) and (d)

91334513218,

91394313219, (), (e) and (f)

215394213220, (El), (d) and (f)
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91394313217 (@), (d) 3 ()
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The paradigm of research which focuses on the development of professional expertise of the
researcher-practitioner is called :

Options:

2 . -
91394313001 Lure research

51394313292, Applied research

. .,’ l_| .
91394313223, Action research

1504313004 QUalitative research
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Which of the following statements best reflect the meaning and characteristics of research ?
Select from the code to give your answer.

a) Research means challenging the status quo.

b) Research is an endeavour to collect facts and information.

]

) Research is a synthesis of deductive and inductive processes.
d) Research means proving one’s assertions and beliefs.

e) Research is a careful review of reported studies.

— — p— — — —

f)  Research is a critical and passionate search for knowledge.
Code :
Options:

(a), (b) and (c)

91334513225,

(d) and (e)

91394313226, (b)’

(a), (e) and (f)

21594213227,

(a), (c) and (f)

91334513228,
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(@), (b) ¥R (c)
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In the two sets given below, Set - I specifies the methods of research while Set - II describes
the critical feature associated with a method of research. Match the two and select from the
code to indicate your answer.

Set -1 Set - 11
(Research methods) (Critical features associated)
(a) Experimental method (i)  Generalizing to the population from a large sample
(b)  Ex post facto method (i) Establishing the patterns of events which have
happened, through primary and secondary sources
(c)  Historical method (iif) Studying shared behaviour patterns
(d) Ethnographic method (iv) Establishing cause and effect through control

=

Probing into the causal factors from the observed
effects

Code :
(@) (b) (c) (d)

Options:

912334513229, (IV) (V) (I_I'.) (I_LI'.)



91394313230, 0 @) (i) (i)

o139431323. W) (1) (i) (V)

91334513232, (I_I'.) (l) (I'.V) (LLI'.)
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Identify those stages/steps of research in which ethical considerations become relevant.
Choose from the code to give your answer.

a) Identifying and defining research question.

b) Postulating relationships among variables to advance a solution.

(

(

(c) Collecting data through use of research tools.

(d) Defining the population and sampling procedure.
(

e) Data analysis and procedure employed.

(f)  Reporting procedure of findings/results.

Options:

(a), (b) and ()

B91334513233.

91334513234, (C)" (E) and (f)

(b), (c) and (d)

912334513235,

(b), (c) and (f)

91334513236,
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(b), (c) SR (f)
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In the two sets given below, Set - I provides the format of presentation and Set - II gives the
distinct features to go with them. Match the two sets and select from the code to indicate
your answer.

Set -1 Set - 11
Format of presentation Distinctive features
P

Thesis/dissertation i)  Based on free-wheeling of ideas

L

Research paper ii) Target oriented group based reflection

.
2

c¢)  Workshop Reflective deliberations based on specific themes
d) Seminar iv) Presentation on a summary of research done

v) Systematic prescribed format
Code :

(@) (b) (o) (d)
Options:
41394313237 (i) (i) (i) (v)
91394313238, (i) (i) (i) (v)

91394313239, (i) (1) (1) (v)

2912334513240, (V) (IV) (I_I'.) (I_LI'.)
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Read the following passage carefully and answer the questions from 11 to 15.

One of the findings of the research into successful leadership is the fact that respect is
always a two-way street. No matter how powerful you are, no matter what your experience,
skills, and accomplishments, you will not be respected by others if you consistently treat
them disrespectfully. Friendliness - that is, treating others politely and showing interest in
them - is a way of showing your respect for other people, and in return they respect you. If
as a manager you are respected, your preventive maintenance strategy will be accepted as a
sincere attempt to resolve problems rather than a mean-spirited attempt to cause problems.

As important as friendliness is, | want to make sure you are not mislead into believing
that friendliness will replace or correct poor management. [ have seen effective managers
who didn’t use this friendliness element but could have been more effective if they did use it.
I have seen very friendly managers who were ineffective because they were not doing effective
management things. In other words, managers who intervene effectively in a friendly way
are always more effective than managers who intervene effectively in a non-friendly way.
Maintaining a friendly relationship is another part of maintaining work performance. It also
helps you avoid having people try to hurt you because they don’t like you. It might save your
life.

Sub questions

Question Number : 11 Question Id : 9139433370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is reported in respect of successful leadership ?
Options:

spec 50 ience o ship.
a150az1g0qy  RESPECt depends on experience of the leadershiy

01394313945 Respect depends on the skills of the leadership.

Respect depends on the accomplishments of the leader.
91394313243,

L‘ 5 @ ‘I I..| " " L‘ 5 L]
1504313044 RESPECE COmes out of respect

Question Number : 12 Question Id : 9139433371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
The passage highlights which of the following feature of a successful leadership ?
Options:

Independence of the leader
91394313245,

Dependence of the leader
91394313246,

1 ' -1 r -
91394313247 Reciprocity of the leader



Least concern for relationship by the leader
91394313248, 4
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The preventive maintenance strategy used by a respected manager will mean to the
subordinates :

Options:

1304313040, A1 attempt to cause problems

Al ¢ ot to res b g
91394313250, An attempt tc resolve prc blems

ot to beco -spiri
150431305, AN attempt to become mean-spirited

An attempt to become sincere
91394313252,
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According to the passage friendliness in management terms implies :

Options:
Rep[a ::ing poor management
91394313253,

Correcting ineffective management
91394313254,

Making management ineffective
91394313255

Making management effective
91394313256
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The central idea of the passage is :

Options:

Friendliness is necessary for management.
91394313257, J ?
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In communicating in a classroom situation which one of the following approaches will be
considered most appropriate ?

Options:
01394315561 Assertive and conformist
Technical and domineering
91394313262,
b 1 - - k=
] L "
01504315265, Personal and emulative

Empathetic and pragmatic
91394313264,



Question Number : 16 Question Id : 9139433375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

7 T ST

91334512261

_aﬂa“r@iaﬂwﬂ

91234513262

=il T SHEREH

91334513263,

- TEIY(TH T AR

91334513264

Question Number : 17 Question Id : 9139433376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following constitute the paralanguage in communication ? Select from the
code to indicate your answer.

(a) Pitch of the voice (b) Internal noise
(c)  External noise (d) Use of pauses
(e) Rate and volume of speech
Code :
Options:

(a), (b) and (c)

9153394213265,

(b), (c) and (d)

91394313266,
91394313267, (@), () and (e)

(a), (d) and (e)

B91234513265.

Question Number : 17 Question Id : 9139433376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334513265,

91334513266,
91334513267,

91234513268,

Question Number : 18 Question Id : 9139433377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following would influence the effectiveness of communication in classroom
instruction in a critical way ?

Options:

T e : ﬁ.
— Subject knowledge of the teacher

Academic intelligence and personality characteristics of the teacher
91394313270, J

Teaching style preferred by the teacher while transacting
91394313271, - 2

o1504z1307e 1 €aching aids used by the teacher while making presentations

Question Number : 18 Question Id : 9139433377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91394313269, ieten <1 faua g I



fo1eter 1 AFRHF FEHT IR Al Ga faan

91334513270,

foreqor =l =1 fopannt=afa & T0a et g/ S <1 8 el

91394513271,

GEATeRT0 o HHY Toe7eh g1 Uge T9reror Uk

9133451327 %2.

Question Number : 19 Question Id : 9139433378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A teacher decides to form six groups of students and assigns a sub-theme to each group for
discussion and reporting. Which kind of communication model will best describe his/her
strategy in this regard ?

Options:

' )
61594315275, Linear model

91394313274, Horizontal model

Interactional model
91394313275,

T e l. . " 3 "
91394313576, [ransactional model

Question Number : 19 Question Id : 9139433378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
U ek BE1 % ©: Y2 % Ted F1 fuig s € SR uftEai e ufaeed & fau e 9y %
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Options:

_“{F@muﬁnﬁ

91394313273
91394313274, arferst gfemm

91394313275, AR -TohaTeHe: FiqHT
91394313276, ERIESIGEICR I GLEIE

Question Number : 20 Question Id : 9139433379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is a powerful determinant for effective assertive communication
whether written or spoken ?

Options:

“You' messages
91394313277,

‘We' messages
91394313278,

“They” messages
91394313279, ’

i Tr
T—
91394313280, [" messages

Question Number : 20 Question Id : 9139433379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Qe SR FEmv, S fafad a1 At w9 § 2, F faw gt e frefated § 9 $E-a g?

Options:

‘ y o
91394313277 GV aal Sl

+
913345132758, B R i

¢ L Hé-?l‘ a-IFIT
913345132735, a-

“H' Gewr o

91334313280,

Question Number : 21 Question Id : 9139433380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

30
91394313231

45

H1334513282.

ol
91394313283



T
91394313284

Question Number : 21 Question Id : 9139433380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

< 9000 were divided among a certain number of persons. Had there been 20 more persons,
each would have got X 160 less. The original number of persons was :

Options:
L }
291394213281,
91394313282, 45
29
21394213283,

91234513254, 59

Question Number : 22 Question Id : 9139433381 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The number of marble slabs of size 20 cm X 30 cm required to pave the floor of a square
room of side 3 meters is:

Options:

100
91394313285,

1 K
91394313286, 120

225
91394313287
91394313088 20

Question Number : 22 Question Id : 9139433381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3 HiET 1 Sl dTel Teh IR &HHL i B9 oM & foIu 20 J2HET x 30 Gl R &
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Options:

100

91334513285,



15

91394313286,
2En
91394313287,
23
91394313288

Question Number : 23 Question Id : 9139433382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the sequence of numbers 2, 8, 26, 62, 122, 212, x, ...... , the term x 1s :

Options:

91394313289,
91334513230,
91334513231,

91394313292

Question Number : 23 Question Id : 9139433382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9= %M 2, 8, 26, 62,122,212, %, ..., H U x ¥ :
Options:

91334513289,
91334313230,
912334513291,

91394313292

Question Number : 24 Question Id : 9139433383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In a certain code, LIFE is written as KMHJEGDF. How is WORD written in that code ?
Options:



91394313293, VXNPQSEC

o1394313204 NV PNSQEC

a1394313205, ¥ ANDQOCE

XVPNSQCE

215394213256

Question Number : 24 Question Id : 9139433383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FHfqua Fe H LIFE F KMHJEGDF & &9 | for@l S €1 39 %2 § WORD &1 4 foan i &2
Options:

a1394313003, YAINPQSEC

91394313004, NV EPINSQEC

91394313205, Y ANPQSCE

91394313296, XVPNSQCE

Question Number : 25 Question Id : 9139433384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In conveying the same meanings, which of the following is incongruous ?
Options:
91394313207, LXCItE

‘ ) ‘l,
91334513295, Flourish

Pros per
91394313299,

Thrive
91394313300,

Question Number : 25 Question Id : 9139433384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

JEIA (TR

21594213297,

SHfd

913345132958,

RkIE
EELE

913345132399,

91334313200,

Question Number : 26 Question Id : 9139433385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In terms of the relationship indicated below, which word will correctly pair to replace the
question mark (?) ?

?  :play::sing :song

Options:

Act
91394313301,

Scene
91394313302,

91394313303, [heatre

91394313304, Field

Question Number : 26 Question Id : 9139433385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i< T Y HEY o SATER @Il T W hH-91 Y5 399 2 7
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Options:

D
91394213301,
91394213302, ;

foruex

912334513203,



oS

91234513204,

Question Number : 27 Question Id : 9139433386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises with four conclusions drawn from them (taken singly or
together). Which conclusions are validly drawn ? Select the correct answer from the code
given below.

Premises (i)  All politicians are honest persons.
(i)  All honest persons are fair.
Conclusions : (a) Some honest persons are politicians.
(b)  No honest person is politician.
(c) Some fair persons are politicians.
(d) All fair persons are politicians.
Code :
Options:
o1594315205 (@), (D) and (d) only
1304315306 () and (d) only
0139431530, (@) and (c) only
s1304313308, () and (c) only

Question Number : 27 Question Id : 9139433386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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% (a), (b) 3R (d)

91334513205,

faF (b) 3R (d)

215394213306,

fadh (a) 3R (o)

912334513207,

fa® (b) 3R ()

291234513208,

Question Number : 28 Question Id : 9139433387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below is a statement followed by three assumptions made from it. Which assumptions
are implicit in the context of the given statement ? Select the correct answer from the code
given below.

Statement s ‘Smoking is injurious to health’. - A warning printed on the cigarette
packets.
Assumptions (a) People read printed matter on a cigarette packet.

(b) People make careful note of a warning,.

(c) Non-smoking promotes health.

Code :
Options:
91394313309, Only (a)
91394313310, Only (a) and (b)
91394313311, Only (b)
91394313312, Only (b) and (c)

Question Number : 28 Question Id : 9139433387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



19 T AfieRe 3R 39H 39 o aard TR €1 fou T sifyered & ded | fR-d1 arar
gffed €7 fou 70 e 4 4 ¥ S A |
fushe : guuH e F T aifene ¢ - favive % Yadl w2 gfad = |
AT : () Fﬁ‘TWﬁaﬁmﬂﬁ'ﬂwmﬁt
(b) N =S 1 HFH A & |
(c) HUUE T FHT 9§ T TN T

Options:

fa® (a)

91234513209,

faF (a) 3T (b)

91334513210,

fad (b)

291594213511,

o (b) #AR (c)

9133451321 %.

Question Number : 29 Question Id : 9139433388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mr. Rajesh, his sister, his son, and his daughter are fond of golf and often play together. The
following statements are true for all the four :

(a) The best player’s twin and worst player are of the opposite sex.
(b)  The best player and the worst player are of the same age.
Assuming that both twins are members of the group of four, who is the best player ?

Options:

son of Mr. Rajes
1594313513 Son of Mr Rd}&%h

ont =1
1304313314 Laughter of Mr. Rajesh

91394313315, Sister of Mr. Rajesh

91394313316, Mr. Rajesh

Question Number : 29 Question Id : 9139433388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91234513213,

ZIRENIET Rl

91334513214,

ZIRIEMICIICES |

9153394213215,

ZIRAEN

291594213316,

Question Number : 30 Question Id : 9139433389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Five persons Amit, Anil, Ajay, Atul and Anand live in a five storey building on different
floors. Amit lives above Ajay but below Anand. Atul lives above Ajay but below Amit. Anil
lives below Anand but above Atul. In which floor does Anil live ?

Options:

1304313217 econd floor

Thi M0
91394313318, ['hird floor

Fourth floor
913943213319,

Either third floor or fourth floor
91394313320,

Question Number : 30 Question Id : 9139433389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

UGN

91334513217,
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91334513218,

EIPIK|

912345132149,
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912334513220,

Sub-Section Number: 4
Sub-Section | d: 913943169
Question Shuffling Allowed : Yes

Question Id : 9139433390 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

Consider the following two tables (I and II) in which table I shows the percentage of
students who joined and successfully completed the Ph.D. programme from the Universities
A to G and table II shows the number of foreign Ph.D. students enrolled in the University C.
These percentages have been rounded to the nearest whole number. There are a total of 855
Ph.D. students in the University C and a total of 5700 students successfully completed the
Ph.D. programme from all the seven Universities together.

In accordance with the tables | and II, answer the questions that follow (Questions 31 - 35) :

I : Students University - wise I : Foreign Ph.D. Students in
University C
Nameof [% of students |% of students who Foreign Number of Ph.D.
University |who joined successfully completed Ph.D.| [Students students in
Fh.lD: (out of 5700) University C

A 22 18 American 65

B 15 17 Australian 46

C 10 13 African 25

D 17 16 European 35

E 08 09

F 12 15

G 16 12

Sub questions

Question Number : 31 Question Id : 9139433391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What percentage of students in University C is that of foreign students ?

Options:



912334513221,

pliIL
91394313322, 20%

250
91394313323."5'“

30 %
91394313324

Question Number : 32 Question Id : 9139433392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In case, there are 21 African students in University E, then approximately, what is their
percentage in that University ?
Options:
4%
91394313325,

2%
91394313326,

'_[E"'r
91394313327, '

20

91394313328 - ¢

Question Number : 33 Question Id : 9139433393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which University has the highest percentage of students who successfully completed the
Ph.D. programme out of the students who joined that University ?
Options:
.
Q12942132329

291234513220,

91334513221,

H91334513532. b

Question Number : 34 Question Id : 9139433394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the ratio of students who successfully completed the Ph.D. programme to the students
who joined in the University G ?

Options:

P_‘!.
91394313333,

R

91394313334,

G 11
91394313335,
91394313336, 9:17

Question Number : 35 Question Id : 9139433395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of students who completed the Ph.D. programme from Universities A and D
together exceeds the number of students who joined the Universities C and E together, by :

Options:

304
91594213357,

278
2913942132338,

399
91394213339,

369
21294213240,

Question Id : 9139433390 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension
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A 22 18 STHFET 65
B 15 17 e 46
C 10 13 T 25
D 17 16 i 35
E 08 09
F 12 15
G 16 12

Sub questions

Question Number : 31 Question Id : 9139433391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
favafarierd € (C) | facefl SE 1 ufded =1 2?2
Options:

15 9fdqerd

2915334213321,

20 gfderd

9153394213322,

25 giderd

H1334513523.

30 gfd9rd

9153394213324



Question Number : 32 Question Id : 9139433392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ffe favafaane™ £ (B) # 21 sTwis! 96 € d1 39 favafaened H 371 gfasra &1 2 ?

Options:

4 gfa9rd

91334513525,

2 gfa9rd

91334513526,

5 Hiderd

91334513327,

3 Hfd9rd

91334513228,

Question Number : 33 Question Id : 9139433393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o Tereafoamerd 4 398 9991 oF 91 B0 § 9 4iu=. 21, FEEH 6l Ahediges IO i 9l B
%1 I=4qH Ufavd & ?

Options:

L
D1394213329.

B
91394213330,

I.‘
91394213331,

E
21394213332,

Question Number : 34 Question Id : 9139433394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
forvafemmer St (G) # div=. 1. S S Ihadges 0 FH 9l BE1 6 37 BE1 Sl I |
a1 &, forei 39 favafamamera ¥ yaw famn ar?

Options:
S ot
291394213233,
e
915942133554,
G 11

9153394213355,



Saly
91394313336,

Question Number : 35 Question Id : 9139433395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fovafaae™d € (A) 3R 1 (D) § Fa oot W=l SR & 90 & 9 861 & GE&A
forgafarame™ i (C) 3R 3 (E) § Fa1 faams g3 o a1l SEi &l §e& 9 ol s1fus § 72

Options:

L | /
2153942132357, 304
7,
913943133586, 278
L ]
215394213359, 399
L |
-
91334213240, 69
Sub-Section Number: 5
Sub-Section 1d: 913943170
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9139433396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mohan tells his friends, Sohan (sohan@gmail.com), Rohan (rohan@yahoo.com) and John
(john@gmail.com), date of his birthday party through an email as shown below :

To :  sohan@gmail.com
(¢ . rohan@yahoo.com
Bec . john@gmail.com
Subject . My Birthday Party ison 15/01/2019
Hello all,
Call me if you can come.
Mohan

Which of the following cannot be derived from this email ?

Options:

01394313341 O0han knows that the birthday party will be held on 15/01/2019.

912943153345 Sohan knows that Rohan receives the email.



) nows that Jo ceives
01504315345 N han knows that John receives the email

John knows that both Sohan and Rohan receive the email.
91394313344,

Question Number : 36 Question Id : 9139433396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Hred 3794 ﬁ:ﬁﬁ, qred (sohan@gmail.com), e (rohan@yahoo.com) 3R S (john@gmail.com)
&1 FETTER T & Wegq | 3199 SAfeT 1 e & fafy o 9R H S ©

To ; sollan@gmail.com

e . rohan@yahoo.com

Bce . john@gmail.com
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e
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Options:

e &1 a1 & T s=afeq =1 aet 15/01/2019 &1 €1

91334513241

| Higd =1 Ta1 € T Ued =i T 9 e |

91394513242

| e 1 Ual & T S =1 30 9 2 |

91234513343

| S 1 91 © T dred TR e SHi 1 38 U 2 |

91334513244

Question Number : 37 Question Id : 9139433397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



There are two sets given below. Set - I specifies the IT related acronyms, while Set - II
indicates their functions. Match the two and give your answer by selecting the appropriate
code.

Set - 1 Set - 11
(Acronyms) (Functions)
(a) CPU (i)  Type of technology used on a flat-screen monitor.
(b) RAM (i) Controls all the functions performed by the computer’s other
components.
(c) ROM (iif) Temporary storage, also known as primary storage.
(d) LCD (iv) Permanent storage that is not erased when the computer’s
power is turned off.
Code :
(@ ) © (d
Options:

91234513245, (I_I'.) (IV) (LLI'.) (l)
91334513246, (1) (IV) (LLI'.) (I_I'.)
2915334213347, (l) (I'.LI'.) (IV) (I.I'.)

91334513248, [:I_I'.) (I'.I_I'.) (IV) (1)

Question Number : 37 Question Id : 9139433397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

291594213345, (LI'.) (IV) (LLI'.) (l)



91334513346, (l) (IV) (LLI'.) (I_I'.)

H91334513247. (1) (LLI'.) (IV) (LI'.}

912345133248, (LI'.) (LLI'.) (IV) (1)

Question Number : 38 Question Id : 9139433398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

The gap between those individuals in a society who are computer literate and have access to
information resources like the Internet and those who do not, is referred to as the
Options:
91594313349 ICT divide

107 LA
91394313350. Digital divide

) 10N O T
91594313551 Information overload

e .
91394313355 lerabyte divide
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Options:

91394313349 Wg@ff TEH'IEE

i i

fefsied fease

91334513250,

b =
91394313351 AW SiElcdls

91334513552, E m

Question Number : 39 Question Id : 9139433399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In computer terminology, which of the following best describes a device driver ?



Options:

Software that allows the user to control the operating system.
91394313353, ‘

/ at allows ser to contro . ing system.
o150az133s, Llardware that allows the user to control the operating system

o, ] T - ‘I rl-- = g S ] -) T -] 1 -] - 3 L- - - ] -] - b ¥ L- !-L- X
150451335, OOftware that allows interaction between peripheral devices and the operating system

Hardware that allows interaction between peripheral devices and the operating system.
91394313356 v
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Options:

T2 GRS S TATET &1 Safen fawen =1 fE 33 &1 S7eel <1 2|

91394513355,
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91594212354
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Question Number : 40 Question Id : 9139433400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Using a word processing software, an image on page two of a document is to be repeated on
(@] (%] (]
page four of the same document. Which of the following would enable this to happen ?

Options:

Cut and Paste
91394313357,

Copy and Paste
91394313358, ’

Find and Replace
91394313359,

Format and Replace
91394313360,
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U 9 GrAfET Wieaa? & War #3d gU, T4l Yord & g3 21 & fwdl fam 1 391 g & g 9n
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Options:

91334513357, | |\3:‘|§R
91334513358, : S:ﬁT

8913324513559

_wﬁzﬁmgﬁ@nﬁﬁm

91334513360

Question Number : 41 Question Id : 9139433401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements are indicative of the vision of Blue-Revolution ? For your
answer select from the code :

(a) Promoting development of Botanical Gardens.

b) Creating an enabling environment for the full potential of fisheries in the country.

P

) Improving the income status of fish farmers keeping in view the sustainability concerns.

(
(
(d) Encouraging scientific research in forestry to increase the vegetative cover.
(e) Promoting integrated development of fisheries of the country.

(f)  Undertaking research in new areas like marine finfish.

Code :

Options:

(b), (c) and (e)

H91334513561.

(a), (d) and (f)

91334513562,

(b), (c) and (a)

91334513363,

(c), (d) and (e)

91234513264,
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91394%13361_ (b), (¢) Sl (e)
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91334513564, (

Question Number : 42 Question Id : 9139433402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Below are given two sets. Set - I mentions the types of pollution, while Set - II indicates their
source. Match the two sets and select your answer from the code.

Set-1 Set - 11
(Pollution Type) (Source)
(a) Air (i) Point and non-point sources such as discharges from
industries etc.
(b) Land (ii) Industries, thermal power plants and motor vehicles
emissions.
(c) Water (iii) Roadway, aircraft, industrial as well as high intensity
sonar.
(d) Noise (iv) Over use of chemical fertilizers.
Code :
(@) (b) (o) (d)
Options:

91394313365, 1) () (i) (i)

912334513266, (I_I'.) (IV) (1) (I_LI'.)



91394313367, (i) () (i) (iv)

91334513368, (IV) (I'.I_I'.) (I_I'.) (1)
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Options:

91394313365. (i) (@) () (i)
o13943133e6, (1) (V) (i) (iii)
91394313367, (i) (@ (@@ (i)

21594213568, (IV) (I_LI'.) (LI'.) (l)

Question Number : 43 Question Id : 9139433403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following provisions are directly covered in the Environment Protection Act,
1986 ?

Options:
= CL 3 . 1 il o= - S ey .
91294313369, Protection and conservation of forests and matters connected therewith
> - . , :
: ol of w ) )
1504313370, L rEVENtion and control of water pollution

Protection and safety of wild animals, birds and plants and for matters connected
91394313371 therewith



Protection and improvement of quality of environment and preventing, controlling

- - —)4 % 4 = - -! 3
o1394313370 and abating environmental pollution
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Question Number : 44 Question Id : 9139433404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of a School / University which of the following aspects of environment determine
the academic ethos ?

Options:

Attractive physical campus
91394313373, ?

Latest lab equipments
91394313374,

Patterns of human relations as evident in workplace
91394313375

91394313376, Well-equipped lecture halls

Question Number : 44 Question Id : 9139433404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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ST eh TNl YOI

91334513274,
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912334513275,
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Question Number : 45 Question Id : 9139433405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two sets given below, Set - I specifies H,S level in a water sample, while Set - II
provides observations. Match the two sets and indicate your answer from the code given
below :

Set -1 Set- 11
(HL,S level in Water Sample) (Observation)
No H,S is produced

) i)  Dark black - high water pollution
(b) H,Sis produced and is small in quantity

(i) No colour - clean water
(c) H,Sis produced and is medium in quantity (iii) Light black - low water pollution

(d) H,Sis produced and is high in quantity iv) Black - moderate water pollution

(@) (b) (¢) (d)

9:;::3133??. (1) (ll) (LLI'.) (IV)
91334513575, [:ILI'.) (IV) (l) (LI'.)

913345132379, (IV) (l) (LI'.) (I_LI'.)

(i) () (v) ()

91334513280,
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he :
(@) (b) (c) (d)
Options:
21394213377, (1) (I_l) (LL[) (IV)

91334513575, (LI'.I'.) (IV) (1) (I_I'.)

91334513279,
H91334513580.

Question Number : 46 Question Id : 9139433406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which organisation in India overseas the functioning and quality aspect of teacher education
programmes ?

Options:
Association of Indian Universities (AlU)
91394313381,
University Grants Commission (UGC)
91394313382. :
atio “ouncil of Educationg Training SBERT
o1504513355 LNational Council of Educational Research and Training (NCERT)

National Council for Teacher Education (NCTE)
91394313384,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 47 Question Id : 9139433407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following bodies/units in a University has a statutory function to perform ?
Options:

91394313335, Board of Studies

91594313536, Fimmance Committee

Board of Management
91394313387,

Research Degree Committee
91394313388,

Question Number : 47 Question Id : 9139433407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

g3 giafd

91334513585,

ot |fafd

91334513386,

2915334213387, A9 Sffs
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91334513288,

Question Number : 48 Question Id : 9139433408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following activity /programme in a University aims at Value Education in a
holistic frame ?

Options:

National Cadet Corps (NCC)
91394313389,

£ s Tusical Concerts
61594315390, Fine Arts and Musical Concerts

Inter-University Competitions
91394313391 g

Yoga Education and Wellness Centres
91394313392,

Question Number : 48 Question Id : 9139433408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
L L e =
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91394313390, Aferd el ST Hiftd THE
91394313391,
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91394313392,

Question Number : 49 Question Id : 9139433409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
For promoting Human Values through programmes of the University System in India, which
of the following activities have great potential ?

Options:

91394313393, Lectures by experts



Association of NGOs
91394313394,

Mentoring by senior faculty members
91394313395, ’ ’

Inviting dignitaries/heads from national level organisations
91394313396

Question Number : 49 Question Id : 9139433409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

fererv=i & =ArEAH
9159421234935,

T S 37 R G

9129431232394,
91394312395, m

ST T o |31 & TOH ArT/ THE Rl 0
91594313396,

Question Number : 50 Question Id : 9139433410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements correctly describe, the functions/status of the National
Institute of Educational Planning and Administration a deemed to be University ?

(a) Capacity building and research in planning and management of education
(b) Educational Planning and Administration

(c)  Fully maintained by the Government of India like any Central University
(d) A Statutory Institute of Educational Planning and Administration

Select the correct answer from the code given below :

Options:
91:94213397. [:-i-'l) -i-'l[‘ld (b)
91:943135956. (a) El['ld (L)

(a) and (d)

215942135399,



(b) and (d)

91334513400,
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Correct Marks: 2 Wrong Marks: 0
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Options:

(a) 3R (b)

913345132397,

(@) 3 (c)

H91334513595.

(a) 3R (d)

215942135399,

(b) 3T (d)

91394213400,
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Question Number : 51 Question Id : 9139433411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A person who tries to increase compliance by inducing an individual to agree first to small
request is using the technique known as

Options:

Door-in-the-face technigue
91394313401,

Elaboration technique
215394213402,

Foot-in-the door technigue
91394313403,

Low-ball technique
91394313404,
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Single Line Question Option : No Option Orientation : Vertical
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Options:
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91394313401
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91394313402,

Fe-FH-41 S AHAF
91394313403,
91394313404 -t
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Correct Marks: 2 Wrong Marks: 0

Which one of the following is not one of the Gestalt psychology laws of perception ?

Options:



91394313405, Closure

Continuity
91334513408,

Proximity
91394313407,

91394313405, eative size
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Frafafia & & s yoa (sl deyf) dedt Trelee wHifamm =1 Frm 78 @ 2
Options:

1

2915334213405,

913345134086,

91334313407,

91234513408, Y
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The basic unit in the Human Associative Memory model is

Options:

91394313409, | roocate
91394313410, onenee
91394313411, PSR
91394313412, ‘rSeciation
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Options:

fadrr (fee)
91394313409

91334513410,

deh-ara (draitfaem)
91394313411,

are=d

9123451341%2.
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The basic elements of thought are
(i) Concepts
(ii) Propositions
(iii) Images

(iv)  Intelligence

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii)
91394213413,

(i) and (iii)
91394213414,

(i) and (iv)
91394213415,

(1), (ii) and (iii)
291294213416,
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(i) H9E
(ii) Teh-areg
(iii) wfe=m
(iv) ﬂ%
Fr R T g2 # @ T TR TR
E:
Options:
(i) 3T (i)
91394313413
(i) ¥ (iii)
91394313414,
(i) 3 (iv)
913943134165,
(), (i) 31 (iii)
91394313416,
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Sensory-specific satiety takes place in
Options:

Papillae
91334313417,

91394313415, palamus

Nucleus of solitary tract
91394213419,

91394313400, 1nsula
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gagfafimegita _ dEd R
Options:

91334513417, (3fe)



= (dema)
91394313418,

wHif o (Fiferett ) = F5%

2915334213419,

91334513420,

Question Number : 56 Question Id : 9139433416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
People with high need achievement usually tend to
(i) be persistent in their work
(ii) like to achieve the feedback on how they are doing
(iii) raise their levels of aspiration in a more realistic way
(iv) work even if they have no control on the situation

(v) dislike working on moderately challenging situations/tasks that promise success.

Choose the correct answer from the code given below :
Code :

Options:

(i), (ii) and (iii) are correct; (iv) and (v) are wrong
91594313421,

(i), (iii) and (v) are correct; (ii) and (iv) are wrong
91394213422,

(ii), (iii) and (v) are correct; (i) and (iv) are wrong
291394213423,

(i) and (ii) are correct; (iii), (iv) and (v) are wrong
91394213424,
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(1), (i) 3 (iii) : (iv) #H (v) Terd
91394313421, i) T &; (iv v g

(1), (iiD) # (v) ; (i) 3 (iv) T
Q1294213422 i vE’a"I% ! o %

(id), (i) 3T (v) (1) 3 (iv) TerE
Q1394213423 i va‘é’[ﬁ ! v %

(i) 3 (i) @ ¥; (i), (iv) 30 (v) T
o150as154ny D DT E; (i), v) A (v) TR §

Question Number : 57 Question Id : 9139433417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The moderate similarity between original list and interpolated list results
in more retroactive interference.

Reason (R): The moderate similarity between original list and interpolated list results
in more response competition.

Code :
Options:

Both (A) and (R) are true, and (R) is the correct explanation of (A).
91594313425,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594212426

(A) is true, but (R) is false.
Q139431323427

(A) is false, but (R) is true.
Q12942132425

Question Number : 57 Question Id : 9139433417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr= 31wy feu e 8, ford @ us e (A) @ 3 gEo 7% (R) B | Sl =i fen st = fag mo
Fe I TEM FHE I g |
iRy (A) : T9 gt 3 w-afdee gt & e daa g % Fno Haaft sy st g d )

% (R) : e gt 3t srmafdse gt % off= daa ava % wr fn sfremad afte @6 2
% :
Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394313425, T wd ¢



(A) 3 (R) 51 9@t €, 7 (R), (A) 1 gt samem T § |
91394313426

(A) T 2, 9 (R) Tera R |
91294312427,

(A) T 8, Wg (R) @&t B |
Q12942123428.

Question Number : 58 Question Id : 9139433418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Motivating potential score comprises of several factors which is determined by
(i) Skill variety
(ii) Intelligence
(iii) Task identity and task significance
(iv) Autonomy and feedback

Choose the correct answer from the code given below :
Code :
Options:

(1), (i) and (iii)
91334513429,

(ii), (iii) and (iv)
291234513420,

(i), (ii) and (iv)
Q12942132421

(1), (iii) and (iv)
9133451343%.

Question Number : 58 Question Id : 9139433418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ffirrer faves weats =3 1@ Sl @ 71 g1 2 Fome Frefafan & gro Fafon fem s @
(i) =l fafea
(i) 9fE
(ifi) Fq TR T Fed Heell
(iv) Tl wE wfagfee
3 Re e g # @ I R IR
% :
Options:

(i), (ii) 37 (iid)
91394313429,



(i), (iii) 3 (iv)
91394313430,

(1), (i) 3 (iv)
91394313431,

(1), (iii) 37 (iv)
91394313432,

Question Number : 59 Question Id : 9139433419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are correct for Pollyanna principle ?

(i) Pleasant items are processed more efficiently than unpleasant ones.
(ii) Pleasant items are processed more accurately than unpleasant ones.
(iii) Pleasant items are retained for a longer period than unpleasant ones.

(iv) Pleasant items are retained for a shorter period than unpleasant ones.

Choose the correct answer from the code given below :

Code :

Options:
91394313433 0 and @

(iii) and (iv)
91394313434,

(i), (i) and (iii)
91394313435,

(@), (ii) and (iv)
91394313436,

Question Number : 59 Question Id : 9139433419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafas 4 @ w28 difeam Fem s e ad 8 2
(i) %R T 1 TR ST i B ge | i e & g R
(ii) #fe wshra 1 Wepnvr sl i i g | sl wdtemargds o amar ®
(iii) B g, el G R e | dtafy o frg Tea €
(iv) & wenrer, sl gt 6 goan o steuraty & fog @ §

#r= fiw m 52 4 | T I W g
% :
Options:

(1) 3 (i)

91334513433,



(iii) 3 (iv)
913943213434,

(1), (i) 31 (iid)
91394313435,

(1), (i) 31 (iv)
91394313436,

Question Number : 60 Question Id : 9139433420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List I with List II and select the correct answer using the code given below :

List I List IT
(Function of perception) (Perceptual issue)
(a) Attention (i) What does that thing characterize ?
(b) Loealization (ii) What is that thing ?
(¢) Recognition (iii) Where is something ?
(d) Abstraction (iv) Is there something ?
Code :
Options:
(a)—(ii), (b)—(iii), (e)~(i), (d)~iv)
91394213437,
(a)—(iv), (b)—(iii), (e)—i), (d)—(ii)
291394213438,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(D)
913942134329,
(a)—ii), (b)—(i), (e)—(iii), (d)—(iv)
91394213440,

Question Number : 60 Question Id : 9139433420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt It gt 118 gafera Aifsn i = e T g2 = w w1 g wd I g

Tt 1 et I
(e e & Tt ) (SeaeruTas q2)
(a) &= (i) = < foraeht forgraan wareft 2 2
(b) TR (i) o8 <t FT R ?
(c) weafigm (iii) % = Fal § 7
(d) &1 (iv) &1 981 o dIa 8 7
Hhe:
Options:

(a)—(ii), (b)—(iii), (e)—(i), (d)—liv)
912334513437,



(a)(iv), (b)—(iii), (e)~(1), (d)—(ii)
91394313438,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394313439,

(a)—ii), (b)—(i), (e)-(iii), (d)—iv)
91234513440,

Question Number : 61 Question Id : 9139433421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Perceptual processes consists of many things :
(i) Perceptual learning
(ii) Motives and needs
(iii) Personality types
(iv) Perceptual cognitive styles
Choose the correct answer from the code given below :
Code :
Options:

(1), (i) and (iii)
91234513441,

(i), (iii) and (iv)
Q12942132442

(i), (ii) and (iv)
91334513443,

(ii), (iii) and (iv)
91334513444,

Question Number : 61 Question Id : 9139433421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e ETOT YT g Sl | @ 8 & -
(i) ScaEoTRe
(i) HAF¥IRT U ATEvEHATS
(iii) =aferea SR
(iv) FHETITILH FeATCA Serat
= fiw e e # & wd I o g
E T4
Options:

(1), (i) 37 (iii)
91394313441,



(), (iii) 371 (iv)
91394313442,

(1), (i) 3 (iv)
913943154453,

(i), (iii) 3T (iv)
91394313444,

Question Number : 62 Question Id : 9139433422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : According to Bandura, the behaviour is fully determined by mental images
of past experiences.

Reason (R): Information gained from observations is stored symbolically in retentional
processes to make it useful.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394213445,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q12943132446

(A) is true, but (R) is false.
Q1294212447

(A) is falze, but (R) is true.
Q15942312448

Question Number : 62 Question Id : 9139433422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= 31w feu e 8, o & us stfirem (A) @ 3 g@0 7% (R) B | el =t afge ol = fag mo
e AT F T I g |
SfieheT (A) : Svg0 % Ian, =aaer w1 i Frafor fama smyfeat 6t amfis sfemed gro g 2

@ (R) : agor g Sred FEAT T Hichiereh w9 & Afaeia wshAt § wew R s @ @i see

Fagi feran = @ |
C T
Options:
91394313445, D 3 (R) S B8 & a1 (R), (A) 1 5 =amea @ |

(A) 3R (R) ST 58t ¥, g (R), (A) 1 g&t =ame 7 2 |
91394313448,



(A) @ &, Tq (R) TTd 2 |
91394313447,

(A) T &, T (R) Tt 7 |
91294312448,

Question Number : 63 Question Id : 9139433423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The tendency to pay attention primarily to the information that affirms existing views
refers to

Options:

Hindsight effect
91394313449,

Reasoning
Q1594212450
9139431345, Confirmation bias
91394313452 Belief

Question Number : 63 Question Id : 9139433423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a8 vafv fora ama 1 diae & fogd saman 38 gea W s fom s § <t faemm safimd 6 gfee
7

Options:

qragiee T
91394313449,
91394313450, a

gfse srfimfa
91394313451
91394313452, 0

Question Number : 64 Question Id : 9139433424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A basic difference between decay and interference theories is that

Options:



Decay theory assumes unlearnin
913494312453 Y v g

Decay theory is a two-factor theo
Q913943132454 Y v v

Deecay theory assumes autonomous processes
91394313455,

Interference theory emphasizes neural consolidation
913394213456,

Question Number : 64 Question Id : 9139433424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e 3t gwasy fagat 4 govE srm aE & f

Options:

e fagra qen 33 &t o @ 8
91394313453,

Ferg fog o g faga 2

91334513454,

Fuera fiagra w=mas ThAl St 7 o
91394313455, W g

9139431345, T egw ThEARE FH T A o §

Question Number : 65 Question Id : 9139433425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Self-disclosure
(i) serves the function of modeling
(ii) helps in developing a new perspective
(iii) develops trust through dyadic effect

(iv) must be used frequently
Choose the correct answer from the code given below :
Code :

Options:

(1) and (ii)
A1394312457.

(1), (iii) and (iv)
91334513458,

(i), (ii) and (iv)
912334513459,



(1), (i) and (iii)
91334213460,

Question Number : 65 Question Id : 9139433425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FTeH-HeheA

(i) wfeoemor &1y g = 8

(i) 1 ofties duR F  HEwT g

(iii) FTel wuTE & "reaw # vl fawfia g 2
(iv) Savaha ®9 & arear 39 faen s =rfey
H= e m 52 4 & wd s W g

%He :
Options:

(i) 3T (i)
Q12394212457

(), (iii) 371 (iv)

91394313458,
(1), (i) 31 (iv)
91394313459,
(i), (ii) 37 (iid)
91394313460,

Question Number : 66 Question Id : 9139433426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are correct for latent learning ?
(i) Latent learning is not translated into performance

(ii) Latent learning remains dormant for a considerable length of time
(iii) Reinforcement is not important for latent learning

(iv) Latent learning is complete in one trial

Choose the correct answer from the code given below :

Code :
Options:
(i) and (ii)
91394313461,
(ii) and (iii)
291394213462,

(i), (ii) and (iii)
2915942134635,



(1), (ii), (iii) and (iv)
Q1594212464

Question Number : 66 Question Id : 9139433426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frrafefiga 4 @ S99 soaw afirm et d o & 2
(i) wregw Aferm %t % 9 afor 78 feran wraT 2

(ii) 3veas sferm g Fremafy o wgeT @ @

(iii) 37eues 2fermy 3 e were mevagel 4 &
(iv) 37egh Hfer U v # Ol 2
e fw e e # & wE W H I
% :
Options:
(1) 3t (i)
91394313461
(i) 3 (iii)
91394313462,

(i), (ii) 3 (iid)
91394313463,

(i), (iD), (iii) 3T (iv)
91394313464,

Question Number : 67 Question Id : 9139433427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh List I with List IT and select the correct answer using the code given below :
List I List IT
(Part of Nervous System) (Response)

(a) Sympathetic nervous system (i) Calmness

(b) Parasympathetic nervous system (ii) Emergency reactions

(e) Pituitary gland (iii) Arousal
(d) Somatic nervous system (iv) ACTH
Code :
Options:
(a)—(iii), (b)—(1), (e)—(iv), (d)—(ii)
291394213465,
(a)—(i), (b)—{iii), (e)—(ii), (d)~(iv)
91594213466,

(a)—iv), (b)id), (e)-(iil), (d)—~1)
91394313467,



(a)—ii), (b)—(iid), (e}—(iv), (d)~1)
91394313468,

Question Number : 67 Question Id : 9139433427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt It gt 118 gafera Aifsn i = e T g2 = w w1 g wd I g
Lol Tt I
(Frenr = o W) (arfswaT)

(a) Frgwedt dfaer a3 (i) il

(b) TRt et o (ii) maTaeRrel wfafward

(e) gy Tfy (iil) g (Igar)

(d) 2fge afae o= (iv) w.d&um.

Fe
Options:

(a)—(iii), (b)~(1), (e)-liv), (d)—(ii)
91234213465,

(a)—(i), (b)—(iii), (e)-{ii), (d)~(iv)
91294213466,

(a)—iv), (b)—(iD), (e)—(iil), (d)~(1)
91334213467,

(a)—ii), (b)—(iii), (e}—(iv), (d)~(1)
91394313468,

Question Number : 68 Question Id : 9139433428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List I with List IT and select the correct answer using the code given below :
List I List I1
(Indice) (Test)

(a) Work interference (i) MCMI

(b) Fake bad profiles (i) MMPI-II

(¢) Capacity for status  (iii) MMPI-A

(d) Immaturity scale (iv) CPI

Code :
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)-iv)
91234213469,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91294213470,



91334513471,

91334513472,

(a)—(iii), (bi~(iv), (e)-i), (d)—(ii)

(a)(iv), (b)(iii), (e)-ii), (d)—(i)

Question Number : 68 Question Id : 9139433428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ot [t gt 118 gafea i o = fae T e 1 wn s ge ad I 9hi

qe 1
(Fa=Ts)
(a) = BEqEY

| IL
(wrdveror)

(i) wH.H g,

(b) Tehelt TUE WEEA (i) .09, 9,318, -11
() Hferaa o foru e (i) ww.um.dtad
(d) smafogeaar @it (i) ©td e,

% :

Options:

91234513469,

291594213470,

91334513471,

91334513472,

Question Number :

(a)—(1), (b)—(ii), (e)(iii), (d)—iv)

(a)—(ii), (b)—(i), (e)—(iv), (d)—iii)

(a)—(iii), (b)—~(iv), (e)-{i), (d)—(ii)

(a)(iv), (b)(iii), (e)-ii), (d)—(i)

69 Question Id : 9139433429 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Azsertion (A) :

Reason (R) :

Code :

Options:

91334513473,

91334513474,

Though meager in number, but women in India have also started avoiding
having children.

Women decide not to have a baby because the sum of negative and positive
valence of having a baby is lower than the sum of valences for pursuing
a career.

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

Yes



(A) is true, but (R) is false.
91394312475,

(A) is falzse, but (R) is true.
Q12943132476

Question Number : 69 Question Id : 9139433429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr= 3t o fow e 8, o & v sfirpe (A) R of g@n 7% (R) 8 1 et i wfge ot e fig o

e &1 T4 F T I g |

Hfirmer (A) : ererites teft afgensdi 6t gem segeq 8, ofF yra & Wt aftenafi A s=t g @
s w1 IE T g

7% (R) : afgand s=t Yg1 7 = =1 Fofg ot & w=ifs ==t Ogr 2 i T @ g
wHu yifeh 1 A0 e forg st g it o st % A B gen J s A
B R |

®e:
Options:

(A) # (R) 9T (R), (A) 1 #at =gmean & |
91394313473, = el &

(A) 3ft (R) ST w#t €, 7g (R), (A) it Tt samean 78 & |
Q12942132474

(A) TEt B, (R) Tefd & |
91394313475, A

(A) T B, (R)T&E 2|
Q1394213476 "T{ﬁ

Question Number : 70 Question Id : 9139433430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Guilford initially started his work on S0I extending Thurstone’s theory of primary abilities
but later on diverged on the grounds

(i) Obtained factors were not primary (independent) rather related to each other.
(ii) Thurstone's factor analysis was mainly oriented to get simple structure.
(iii) It was found difficult to name the abilities/factors found in data.
(iv) Like Thurstone, Guilford found second-order and higher-order factors.
Choose the correct answer from the code given below :
Code :

Options:

91334513477, (@) and ¢i)



(iii) and (iv)
91334513475,

(1), (i) and (iii)
912334513473,

(ii), (iii) and (iv)
291594213480,

Question Number : 70 Question Id : 9139433430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

4 ¥ firerss 3 wrafirs Ftaa & w1 d owdq & fagia =1 fawan +@ g s s i geea
T, 337§ % Hag d i, vig =g # Frefefa 7 @GR snunt wosER s fim wa wem e 2

(i) Wred ek nfis (Faad) 76 9 afesh thgat 8 Hag 4 |

(ii) o= weh Favero &1 qEa g farge weat e & o |

(iii) st # feu mu Freraywnes it Fuaffa w0 & w6 gfewa g mn
(iv) o&=7 i 7eg firaws 3 fgdfta som U I=3ae 9 o Feh! 1 a1 @ |

¥ e o g # @ T I R g
C T
Options:

i Gﬂ'{ T
91394313477 0 FC@)

(iii) T (iv)
91394313478,

(1), (i) 31 (iid)
91394313479,

(i), (iii) 3 (iv)
91394313480,

Question Number : 71 Question Id : 9139433431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Using the notions Chronological Age (CA), Educational Age (EA), and Mental Age (MA),
the Accomplishment Quotient (AQ) is computed as

Options:

100 (MA/CA)
91334513451,

100 (EA/MA)
91234513482,

100 (EA/CA)
91334513453,



100 (MA/EA)
91334513454,

Question Number : 71 Question Id : 9139433431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FeTghe g (H.0.), frer amg (f.u.), ik wmfae oy (TR.u.) i Fhca A Fi IR Fd 7
Freafer-afer (va,) it Frfefea % w9 4 g farn wman 2

Options:

100 (wH.u./H1.1.)
913943134381

100 ($.u./uH.0.)
91394313482

100 ($.u./dtu,)
91394313483

100 (w9.0./4.0.)
91394313484,

Question Number : 72 Question Id : 9139433432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The improvement in performance following a rest after cessation of practice is called
Options:

91394313455, Reminiscence effect

Spontaneous recove
91394213486, po v

Incremental learning
291394213487,

Crespi effect
291594213485,

Question Number : 72 Question Id : 9139433432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

areTg 61 g % g faum w6 % 91e F § gan Feer 8

Options:

aegfe wwma (i o)

2915334213485,



91334513456, ﬁﬁ:?ﬁf Tl'ﬂ'lﬁ ( o )

91234513487,

H91334513488.

Question Number : 73 Question Id : 9139433433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Piaget, which of the following explains the concept of Cognitive Equilibration ?

Options:

Tendency to integrate structures into higher order systems
Q13943132489 « 8 =

Individual seeking to stabilize his or her cognitive structures
91394213430,

Tendency to modify structure in order to incorporate new information
91394313491,

Fact that every structure has its origin in earlier structures
91394213492,

Question Number : 73 Question Id : 9139433433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feramst % srgem, Prefafiaa 4 @ S gammems araum gwer 6 wdt samen 8 2
Options:

HrEA = Hife 6t wnfeat § gafea w0 f vaf
91394313489,

91394313490, Sft Tarrers Fend feR e A s st

Tt gE Wi % v § weE | g S R
91394313491, o= e & s i

91394313492, e qed b Wesh GO 1 g 3T O weaiaA A gt

Question Number : 74 Question Id : 9139433434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT and select the correct answer using the code given below :

List I List II
(Concept) (Description)
(a) Cerebral Palsy (i) Hereditary condition in which the brain’s nerve cells break
down to affect physical movements, emotions and
cognitive abilities

(b) Phenylketonuria (ii) Group of disorders that affect muscle movement

(¢) Down Syndrome (iii) Rare genetic condition that causes amino acids to build up
in the body

(d) Huntington’s disease (iv) Most common genetic cause of intellectual disability

Code :
Options:

(a)—{i), (b)—(iii), (e)—{iv), (d)—(ii)
91394313453

(a)(ii), (h)—1), (e)-(iv), (d)iii)
91394513494,

(a)(iii), (b)(ii), (e)—(iv), (d)—(1)
912394313495,

(a)—(ii), (b)—(iii), (e)—(iv), (d)—(i)
913943134396,

Question Number : 74 Question Id : 9139433434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t gt 118 gefea Aifan i = e T 52 = w w1 g w8 3w g

gl qE I
(dueag) (Fereon)

(a) yHfEmss smam () agmra e faad aferss 6 dfm Sihmd faea g ard & g
o !, Gl I Gt drEdTe T e 9391 8

(b) Bfedichie (i) Faewrt & aqg ot ot % gue B wfad w @
(c) ST37 HGa&  (iii) g afyes feufa <t sl d Wi st s Fmfon s st 2
(d) &fee T (iv) difge Farran =1 gad g sgafies S

He
Options:

(a)—{i), (b)—(ii1), (e)—{iv), (d)—(ii)
91394313493

(a)-ii), (b)—(i), (e)(iv), (d)(iii)
91394313494,

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
913943134395,



(a)—ii), (b)—(iid), (e}—(iv), (d)~1)
91394313496,

Question Number : 75 Question Id : 9139433435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The pattern of excitation and inhibition that constitutes the activity of the cortex at any
given moment, is called

Options:

91394313497, cnsitization
Squandrels

91394313498,

91394313459 Cortical Mosaic
Neuroplastici

91394313500, plasticrty

Question Number : 75 Question Id : 9139433435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Feror (usaTseIE) 3t wratty o ey fored foneft fou o & & aege (Fdew) w1 frarmam g @,
el 8

Options:
91394313497, E
91394313498 ;
e A (FHfeher Hioteh)
91394313499,
91394313500. s

Question Number : 76 Question Id : 9139433436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : We recall information accurately if it is processed at deep level rather than
at shallow level.

Reason (R): Processing at deep level involves elaboration and distinctiveness.
Code :



Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
291594213501,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394212502,

(A) is true, but (R) is false.
Q91294212503

(A) is false, but (R) is true.
Q129423132504

Question Number : 76 Question Id : 9139433436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A= 3t e fon e B, T & o arfirme (A) @ i g@n a6 (R) @ | Sl i afen sfi e few o

Fe & TE F T I g |

e (A) - & g o 36 el 4 de-dte g s @S9 38 gadt w0 S a9 et '
ut Werfire fera mam Bt |

7% (R) : et T 9 wghavn 8 fawrdieo @it dfiess st g €
% :
Options:

(A) 3 (R) a9 (R), (A) i 98 samean |
91394313501, o = & A ¢

(A) 3 (R) 31 gt €, 7 (R), (A) 1 9t samem T § |
91394313502

(A) & 2, 9tg (R) Teid 2 |
Q912942132503

(A) TeTd &, 9 (R) T8 2 |
91394313504,

Question Number : 77 Question Id : 9139433437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The Lock-and-Key theory explains
Options:

91394313505, Colour vision

Depth perception
Q1=294=21=508, Pt percep

91394313507, OHaction



High frequency sounds
9123494212508, & ed &

Question Number : 77 Question Id : 9139433437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

dieh-ure-<ht frgia +am =area w2 ?

Options:

o
913943135065, =

gl gemaor
91394313506,
91394313507,

¥ arrafy waft
91394313508,

Question Number : 78 Question Id : 9139433438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Agoraphobias
(1) Usually onset during early adulthood
(ii) Are dominantly found amongst women
(iii) Can onset at any age but mostly during early childhood
(iv) Are dominantly prevalent amongst men

(v) Share more kinship with panic disorders than phobic disorders

Choose the correct answer from the code given below :

Code :

Options:

(i), (iv) and (v)
913943138049,

(1), (i) and (v)
91394213510,

(1), (iii) and (v)
91394213511,

(iii), (iv) and (v)
Q912942132512

Question Number : 78 Question Id : 9139433438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ferga worm-ofifer

(i) HHEHAE SR YHATT FAIHF FAERIEEdT % O Bt 2

(i) waaat gfgesd & = arg st 2

(iii) foreft oft a1 A 2t wedt 2 SR srfrra wrifes seamaee & <hm a2

(iv) NeTean gest | qrg St @
(v) g¥fff fapml 1 g o anrde fawrrd & stferes wofia 2t @
fre e e & & @ I w g
% :
Options:
(i), (iv) 3 (v)
91394313509,
(i), (i) 3 (v)
91394313510.
(), (iii) 371 (v)
91394313511
(iid), (iv) 3 (v)
91394313512

Question Number : 79 Question Id : 9139433439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange in sequence the stages of personality development according to Rollo May.

Options:

Dependence — Innocence — Rebellion — Ordinary consciousness of self
91394313513 Creative consciousness of self

Innocence — Dependence — Rebellion — Creative consciousness of self

— Ordinary consciousness of self
91394213514,

Dependence — Innocence — Ordinary consciousness of self — Rebellion
91394313515 Creative consciousness of self

Innocence — Rebellion — Dependence — Ordinary consciousness of self
91394313518 Creative consciousness of self

Question Number : 79 Question Id : 9139433439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

et ® % srgan =gt fasra & =oont it st # syafera 6ifig |

Options:



91394313513, fnfrat — fghvar — fage — area it Grame S0 — e i GoHATES Ta1

91354313514, fretaar — fnftar — fagie — e 6 getTers ST — 376 i G S

91394313515, frvfeet — fgiwar — siren it amamor @ — fagde — aen 6 wefTeT Jam

91394313516, frefrar — figle — ikt — s 6t Tram T — 3ed A gEEES T

Question Number : 80 Question Id : 9139433440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and select the correct answer using the code given below :
List I List IT
(a) Electromyography (i) Procedure for measuring museular tension
(b) Electrooculography (ii) Technique for recording eye movements

(c) Plethysmography  (iii) Technique for measuring volume of blood in a particular
part of the body

(d) Stereotactic surgery (iv) Technigue in which devices are precisely positioned in the
depth of brain

Code :
Options:

(a)—(iii), (b)(ii), (e)-(i), (d)—iv)
91594213517,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394313518,

(a)—(ii), (b)—iii), (e)~(i), (d)-liv)
91394313519.

(a)—(1), (b)—(ii), (e)-(iv), (d)—iii)
91394313520

Question Number : 80 Question Id : 9139433440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gt 1! gt 118 gofera Aifag 3 f= e T 52 =1 w w1 g ad 39w g
1 Exipl
(a) fogaush smea (i) ufr T e wfshan
(st )
(b) JerRISTRIITE! (i) Tamfa g 0 B THFS
() ceAforeigTdy (i) T % et forsre wor & o =t aftmmor o it gt
(d) feeframdfaes wea-fafmem (iv) o8 aoites fomd o=t it aftrss & gen o gand &9 @ w@n s 2

H:
Options:

(a)—(iii), (b)(ii), (e)—(i), (d)—iv)
91394313517,

(a)(i), (b)—(ii), (e)—{(iii), (d)—iv)
91234213518,

(a)—(ii), (b)—(iii), (e)-(i), (d)iv)
91394313519

(a)—i), (b)—(ii), (e)—(iv), (d)—(iii)
91394313520.

Question Number : 81 Question Id : 9139433441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List I with List IT and select the correct answer using the code given below :

List I List IT
(a) Mental models (i) The impact of past experience on present problem solving through
better alternatives
(b) Heuristics (ii) Knowledge structures that guide our interactions with objects and

events around us

() Availability (iii) Mental rules of thumb that permit us to make decisions and
heuristics judgements in a rapid manner

(d) Mental set (iv) A cognitive rule of thumb in which the probability of various events
is judged on the basis of how quickly they come to mind

Code :
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—iv)
91234213521,

(a)—(ii), (b)), (e)iv), (d)—(i)
91594213522,

(a)—(ii), (h)—(iii), (e)—(i), (d)—(iv)
91394313523,

(a)—iil), (b)~(iv), (e)~(i), (d)—(ii)
91394313524,



Question Number : 81 Question Id : 9139433441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1! gt 118 gofera Aifag 3 f= e T 52 =1 w w1 g ad 39w g

T 1 ¥ 11
(a) AfaH Aiga (i) =g faskedt & qrem & AU GEET GHTYE W qAee &
FNE I THE
(b) F=uTTede gomfert (ii) 9 TaEY (TreATE) S gR go-frd i aegadt offt wematt %
a1y gail FEatEaaT %1 qrieye Sl 8
(e) ITTTIT A=GUTcHh TUTerd! (iii) o TS wA=rs Haq ot g6 rafd &9 4 fv=a e g
T H1 AT A &
(d) wrfe fa=ama (iv) T ETHS Haars 4w ot fafim geaadt i dvreaa
=1 Faofas 3@ smam o foe o & fop o Feneft sfteen & femm
o et &
% :
Options:
(a)—(1), (b)—(ii), (e)—(iii), (d)—(iv)
91394313521
(a)—(ii), (h)—(iii), (e)—(iv), (d)—(i)
91394313522
(a)—(ii), (b)—(iii), (e)—(i), (d)—iv)
91394313523,
(a)—(iii), (b)—(iv), (e)—(D), (d)—(ii)
91394313524,

Question Number : 82 Question Id : 9139433442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are associated with haptic memory ?
(i) Sensory memory
(ii) Related with touch stimuli
(iii) Parietal lobe
(iv) It involves cutaneous and kinesthetics
Choose the correct answer from the code given below :
Code :
Options:
91394313505 ) 2nd @

(i), (i) and (iii)
H1334513526.



(1), (iii) and (iv)
91334513527,

(1), (ii), (iii) and (iv)
Q129431323528

Question Number : 82 Question Id : 9139433442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Presforfiaa @ 7 v e & weafera 0
(i) wadt =

(i) =9 v+ & et

(i) wfeet @

(iv) 389 van o nfa-Hag sfmie & |
13 fiw e e & @ wd IR IR

C T

Options:

(i) 3 (id)
91394313525,

(1), (i) #H (iid)

91394313526,

(), (iii) 31 (iv)
91394313527,

(i), (iD), (iii) 3T (iv)
91394313528,

Question Number : 83 Question Id : 9139433443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Key issues in the study of heredity-environment effects on intelligence are
(i) HReaction range
(ii) Proximal and distal causation
(iii) Collinearity

(iv) Environment sphere
Choose the correct answer from the code given below :
Code :

Options:

(i) and (ii)
912334513529,

(iii) and (iv)
91394212530,



(1), (i) and (iii)
91334513521,

(ii), (iii) and (iv)
91334513532,

Question Number : 83 Question Id : 9139433443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
afg dadt smgafies-afes wwrEt % s § ger faw 8
(i) wfefsrar v (foemm &)
(i) Frepesy (wifaamer) it fowes wrtearg

(ili) E@ar
(iv) T &=
Fr fou o %2 § @ wft I g
E '
Options:
(i) T (ii)
91394313529,
(iii) 3 (iv)
91394313530,
(), (i) 31 (i)
91394313531,
(id), (i) 3 (iv)
91394313532,

Question Number : 84 Question Id : 9139433444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In group counselling, there is a typical order of various stages.
(i)  Norming
(ii) Performing
(iii) Forming
(iv) Storming
Choose the correct answer from the code given below :
Code :
Options:

(1ii), (1), (ii), (iv)
91334513533,

(iii), (ii), (1), (iv)
91334513534,



(i), (iv), (1), (i)
91334513535,

(i), (1), (iw), (1)
91334513536,

Question Number : 84 Question Id : 9139433444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
arifes qatas F, fafi sort w0 v fafime wa g 2
(i) W (AifT)
(i) forareaas (wowifdn)
(i) T (wifd)
(iv) srgmara (wifd)
13 fiw e e & @ wd IR IR
% :
Options:

(iii), (1), (ii), (iv)
91334513533,

(iii), (i1), (1), (iv)
91334513554,

(i), (iv), (1), (i)
91334513535,

(1ii), (1), (iw), (i)
91334513536,

Question Number : 85 Question Id : 9139433445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh List I with List IT and select the correct answer using the code given below :

List I List IT
(Concept) (Description)
(a) Cataplexy (i) Non-REM sleep
(b) Apnoea (ii) REM sleep
(¢) Dreams (iii) Waking up as one stops breathing
(d) Night terrors (iv) Symptom of narcolepsy
Code :
Options:
91394313537 (a)—(i), (b)—iii), (e)(ii), (d)-(iv)

(a)—(iv), (b)—(iii), (e)-(1), (d)—(ii)
91334213538,



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394313533,

(a)—(i), (b)—ii), (e)—(iv), (d)—(iii)
91234213540,

Question Number : 85 Question Id : 9139433445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ot [t gt 118 gafea i o = fae T e 1 wn s ge ad I 9hi

et 1 et I
(wvwreaa) (feramon)

(a) oo fwmear () -am i, fig

(b) 3F7aE (i) .3, g

() T (i) HT9 &1 Fohd & ST
(d) Fram ame (iv) TEIAT & e

He
Options:

(a)—(i), (b)—(iii), (e)-{ii), (d)~(iv)
91594213537,

(a)—(iv), (b)—(iii), (e)-(1), (d)—(ii)
91334213538,

(a)—(iv), (b)—(iii), (e)—(il), (d)—(1)
91394313539,

(a)—(i), (b)—ii), (e)—(iv), (d)—(iii)
91234213540,

Question Number : 86 Question Id : 9139433446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The disruptive effect that occurs when a novel stimulus is presented along with an already
established conditioned stimulus is called

Options:
91394313541, Cxternal inhibition

Response inhibition
913394213542,

Counter conditioning
91394213543,

91394213544, Stimulus inhibition



Question Number : 86 Question Id : 9139433446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fereft qdf wenfie srggfer sdhm & any wega fore o feneft aefm sdftam <t gan & &R aren e

TTE FEeATdl &

Options:

9153394213541,

912334513542,

91334513543,

2915334213544,

Question Number : 87 Question Id : 9139433447 Question Type: MCQ Option Shuffling : Yes Display Question Number :

arel ey

sefn Ty

ufd aFgeeA

I WY

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Match List I with List IT and select the correct answer using the code given below :

List I

List IT

(a) Night Terror (i) Disturbance in sleep-wake cycle

(b) Restless Leg Syndrome (ii) Cramps in calf and foot muscles

(¢) Nocturnal Leg Cramps (iii) Sensations in legs causing movements and loss of sleep
(d) Circadian Rhythm Disorder (iv) Extreme agitation

Code :

Options:

91334513545,

91234513546,

2915334213547,

91334513548,

(a)—(i), (b)—(ii), (e)-(iii), (d)~(iv)

(a)—iv), (b)—(iii), (e)—ii), (d)—(i)

(a)—(1), (b)—(iii), (e)—(ii), (d)~(iv)

(a)—iv), (b)id), (e)-(iil), (d)—~1)

Yes

Question Number : 87 Question Id : 9139433447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1! gt 118 gofera Aifag 3 f= e T 52 =1 w w1 g ad 39w g

T 1 et 1
(a) Tl @38 (i) FEremwfs = o Tead
(b) = qTE HeART (i) fireeft qeur g wredfinE 4 o
(c) 491 9TE Wi (iil) & Heeard faer %o wia feed & 997 e 78 s
(d) foehfema frgm fewaridt (iv) 3u &
C T
Options:
(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394313545,
(a)—(iv), (b)—(iii), (e)~(ii), (d)—(i)
91394313546,
(a)—(i), (b)—(iii), (e)—(ii), (d)—iv)
91394313547
(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)
91394313548,

Question Number : 88 Question Id : 9139433448 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Mateh List I with List IT and select the correct answer using the code given below :
List I List IT
(Style) (Description)

(a) Directive autocrat (i) Makes decision participatively and gives latitude to
subordinates in carrying out their job

(b) Directive demoerat  (ii) Makes decision unilaterally and gives subordinates latitude in
carrying out their work

(¢) Permissive autocrat (iii) Making decisions participatively by close supervision of
subordinates

(d) Permissive democrat (iv) Making decisions unilaterally, but closely supervising
subordinates

Code :
Options:
(a)—i), (b)—(ii), (e)(iii), (d)—iv)
21294213549,

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394313550.

(a)—(ii), (b)iii), (e)(iv), (d)—(i)
91394313551,

(a)—(ii), (b)—(1), (e)Liii), (d)-iv)
91594213552,

Yes



Question Number : 88 Question Id : 9139433448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1! gt 118 gofera Aifag 3 f= e T 52 =1 w w1 g ad 39w g

A1 Tt I
(Fieft) (Feraron)

(a) Fiwmemes wwddta () wewnft w9 @ Faola s @ oif srdieet it sto e e | we daT @

(b) Freamens eiwdaardt (i) e w9 @ fofs s 8 o sfe it oo &l 01 | g2
R

() FIHTH THastd (iii) 37efieet 1 Fasharqes wHaar wk wevrht wy @ Fokr s @

(d) FH Arhears!  (iv) Twaafta w9 & fofr w8, df sdiaegi 1 gachargeas wHiagm
AT B

e :
Options:

(a)—i), (b)—(ii), (e)(iii), (d)iv)
912394313549

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394313550.

(a)—(ii), (b)iii), (e)(iv), (d)—(i)
91234213551,

(a)—(ii), (b)—(1), (e)Liii), (d)-iv)
91594213552,

Question Number : 89 Question Id : 9139433449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following neurotransmitters is/are found throughout the central nervous
system ?

(i) GABA

(ii) Glycine
(iii) Dopamine
(iv) Serotonin

Choose the correct answer from the code given below :
Code :
Options:
Only (i)
91394213553,

91334513554, (@) and (il

(iii) and (iv)
91334513555,



(ii), (iii) and (iv)
91334513556,

Question Number : 89 Question Id : 9139433449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfefiaa 9 @ s-ava dfe danes (=pigedter) ool w5 dfem agft & arn/are s 278 2
(i) T (GABA)

(i) TeATsRE
(iil) =rafE
(iv) ®HTettE
Hr feu T g & | W I w9
E:
Options:

Fad (i)
91394313553,

(i) 3 (iid)
91394313554,

(iii) 3 (iv)
91394313555,

(id), (iii) 3 (iv)
91394313556,

Question Number : 90 Question Id : 9139433450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is a toddler experiencing who is occupied with pointing at things and asking what
they are ?

Options:

The naming explosion
91394313557,

Prelinguistic vocables
91334313558,

Multilinguistic awareness
912334513559,

An overactive Language Acquisition Device (LAD)
91394313560,

Question Number : 90 Question Id : 9139433450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



vafrdt igadfeif oo sr@awefFamme, mom s aE R Ee?
Options:

Ty faeste (A wemeta)
941394313557

st et weg (Rifafefes aihaed)
91394313558.

g T (- Pt srduc)
91294313559
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Question Number : 91 Question Id : 9139433451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Reasoning is often influenced by emotion-laden beliefs.
Reason (R): Powerful beliefs come face-to-face with logical arguments.
Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394213561,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
21594213562,

(A) is true, but (R) is false.
9123494212862,

(A) is falzse, but (R) is true.
Q91594212564

Question Number : 91 Question Id : 9139433451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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e &1 FE F T I g |
SATaweT (A) : Toh STHEL Gaml @ F6t wr-aaiadt grr wwifad &id 2 |

i (R) : wiferamTelt AT=aard TeRETTd deh-Tadehl o THA-GTH Bl 2 |
% :
Options:
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(A) 3 (R) g1 @&t &, 9 (R), (A) i Gt =arem 76 § |
91394313562

(A) TH B, (R) Terd & |
Q1394213063 m
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Q1294213584 e

Question Number : 92 Question Id : 9139433452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh List I with List IT and select the correct answer using the code given below :

List I List IT
(Type of Test/Construct) (Example)
(a) Forced-choice test (i) Allport, Vernon and Lindzey’s Study of Values
(b) Ipsative scores (ii) Edwards Personality Preference Schedule
(¢) Projective test (iii) Balanced Inventory of Desirable Responding
(d) Self-deception/Impression (iv) Rosenzweig PF Study
management
Code :
Options:

(a)—(D), (b)—(ii), (e)-(iv), (d)iii)
91394513565,

(a)—iii), (b)~(iv), (e)(i), (d)—(ii)
91394313566,

(a)ii), (b)—(i), (e)—(iv), (d)(iii)
91394313567,

(a)—(ii), (b)—iv), (e)(i), (d)iii)
91394313568,

Question Number : 92 Question Id : 9139433452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



(a)—(i), (b)—(ii), (e)—(iv), (d)iii)
91394313565,

(a)—iii), (b)~iv), (e)i), (d)—(ii)
91394313566,

(a)ii), (b)—(i), (e)(iv), (d)iii)
91394313567,

(a)—(ii), (b)—(iv), (e)—(i), (d)—{iii)
91394313568,

Question Number : 93 Question Id : 9139433453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given an opportunity to choose, what should be the order of preference from ideally most
appropriate to the least appropriate method to be used for the school students ?

(i)  Counseling

(ii) Psychoeducation

(iii) Psychotherapy

(iv) Identifying and improving work goals

Choose the correct answer from the code given below :
Code :

Options:

(1), (iw), (ii), (11i)
91234513569,

(ii), (iv), (i), (iii)
91334313570,

(1v), (ii), (1), (ii1)
91334513571,

(1w}, (1), (1), (111)
91334513572,

Question Number : 93 Question Id : 9139433453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

afe I w1 Hie fn e, wpeft frenfiia % forg 3w & ong 9™ areft swreia: wew i sy
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Options:

(1), (iw), (ii), (1ii)

H91334513569.

(id), (iw), (1), (ii1)
91334313570,

(iv), (i), (1), (ii1)
91334513571,

(iv), (1), (ii), (iii)
B91334513572.

Question Number : 94 Question Id : 9139433454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are the sources which lead to prejudice ?
(i)  Direct intergroup conflict
(ii) In group and out group
(iii) Social learning
(iv) Parent’s degree of prejudice

Choose the correct answer from the code given below :
Code :

Options:

(ii) and (iii)
Q1294313573

(i), (ii) and (iv)
91294313574,

(ii), (iii) and (iv)
91334513575,

(1), (i), (iii) and (iv)
Q1294313576

Question Number : 94 Question Id : 9139433454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frefafaa dd shd @imr S ek g 2
(i) WeaE o7 HE Jdug
(i) oy i afede
(iii) wETRae saferTs
(iv) wren-fian & qafog 6 faft
Fr faw e g2 # @ v Iw o R
C T

Options:



(i) 37 (iii)

91394213573,

(1), (i) 3 (iv)
91394313574,

(i), (i) #H (iv)
91394313575,

(i), (iD), (iil) 3 (iv)
91394313576,

Question Number : 95 Question Id : 9139433455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are true about attribution ?
(i) Internal attributions ascribe the causes of behaviour to personal dispositions and traits.

(ii) Internal attributions ascribe the causes of behaviour to individual abilities and feelings.
(iii) External attributions ascribe the causes of behaviours to situational demands.
(iv) External attributions are always unstable.

(v) Internal attributions are always stable.
Choose the correct answer from the code given below :

Code :
Options:
(1), (ii) and (iii) are correct; (iv) and (v) are incorrect
91394=312577.
(i) and (iii) are correct; (ii), (iv) and (v) are incorrect
91294313578,
(1) and (ii) are correct; (iii), (iv) and (v} are incorrect
9123942312579,
(iv) and (v) are correct; (i), (ii) and (iii) are incorrect
9123942313580,

Question Number : 95 Question Id : 9139433455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1), (i) 3 (iii) : (iv) #R (v) T
91394313577, i) & &; (iv v g

(i) 3 (iid) : (i), (iv) 3R (v) e
91394313578, i) T8 &; (1), (v v g

(i) #H (i) : (iid), (iv) 3 (v) TeFd
91394313579, i) T &; (i), (v v g

(iv) 3T (v) : (1), (ii) 3 (iid) TR
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Sub-Section Number: 2
Sub-Section 1d: 913943172
Question Shuffling Allowed : Yes

Question Id : 9139433456 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Instructions : Read the following paragraph and answer the five questions which follow.

A sport psychologist wanted to study the effect of a specific type of steroids. She
hypothesized that the consumption of steroid would temporarily improve the running rate.
Seventy athletes in the age range of 25 to 30 years were employed in this work. Two
Groups, A and B, of equal size were formed by random assignment. The examination of the
two groups revealed that the two groups had similar genderwise composition. Group A
athletes received the drug dosage, adjusted for the body weight. Group B athletes received
the placebo. Twenty-five minutes (time required to manifest the steroid effects) after, the
athletes were required to run a specific track. The mean time to run the track was
calculated for each group. The mean time required to run the track was 180 seconds and
145 seconds respectively for Group A and Group B. The mean difference was evaluated by
appropriate statistical test.

Sub questions

Question Number : 96 Question Id : 9139433457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statistical tests can be used to analyse the data in the above
experiment 7

(i) Independent samples t-test
(ii) Paired samples t-test

(iii) One-way analysis of variance
(iv) Mann-Whitney U test

Choose the correct answer from the code given below :

Code :

Options:

Only (i)
91394313581,

(ii) and (iii)
91394313882,

(1) and (iv)
91394313583,

(1), (iii) and (iv)
91394313584,

Question Number : 97 Question Id : 9139433458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The hypothesis of the above study can be best labelled as

Options:

Directional hypothesis
91394213585,

Null hypothesis
Q139421 25586. ypo

Non-directional hypothesis
91394313587,

Non-causal hypothesis
91394213588,

Question Number : 98 Question Id : 9139433459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The researcher’s hypotheszis in the above study
Options:

91394313559, asbeen verified



has been rejected

913943135390,

has been partially verified
91394313591,

could not be verified due to inadequate data
215394213592,

Question Number : 99 Question Id : 9139433460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

In the context of the above experiment, match List I with List IT and select the correct
answer using the code given below :

List I List IT

(Type of variable) (Actual variable)
(a) Independent variable (i) Age
(b) Dependent variable (ii) Drug dosage

(e¢) Controlled variable (iii) Gender

(d) Dummy variable (iv) Time required to run
Code :
Options:
(a)—(iv), (b)—(ii), (e)—(i), (d)—(iii)
215394213595,
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
915943135594,
(a)—(ii), (b)—(iv), (e)—(1), (d)—(iii)
91394313595,
(a)—(i), (b)—iii), (e)(ii), (d)iv)
91394313596,

Question Number : 100 Question 1d : 9139433461 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). In the context of the above experiment, read the statements and choose the
correct answer using the code given below.

Assertion (A) : In the above experiment, subjects have been randomly allotted to two

Eroups.
Reason (R): Random allotment makes the groups reasonably comparable in terms of
individual differences.
Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394213597,

Yes



Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q15942125498

(A) is true, but (R) is false.
Q913942132599

(A) is false, but (R) is true.
91234513600,

Question Id : 9139433456 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cesticn Label | Comprehension
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Question Number : 96 Question Id : 9139433457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Fad (D
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Question Number : 97 Question Id : 9139433458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91334513585,

PIEETE])
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Correct Marks: 2 Wrong Marks: 0
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Options:
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Correct Marks: 2 WrongMarks: 0
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Options:

(a)—iv), (b)—(ii), (e)—(i), (d)—(iii)
91334513593,

(a)—ii), (b)—(iv), (e)—(iil), (d)~(1)
91334213534,

(a)—ii), (b)—(iv), (e)—(i), (d)iii)
91234213535,

(a)—(i), (b)—(iii), (e)-{ii), (d)~(iv)
91594213596,

Question Number : 100 Question Id : 9139433461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91394313600.
Sub-Section Number: 3
Sub-Section I d: 913943173
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9139433462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Rogers contends that ideal condition for the development of healthy
self-concept and movement towards becoming fully functioning is
unconditional regard.

Reason (R): Unconditional positive regard can generate incongruence between true-self
and experience.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
291594213601,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91594212602,

(A) is true, but (R) is false.
Q1394312803

(A) is falze, but (R) is true.
Q12943132604

Question Number : 101 Question Id : 9139433462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 WrongMarks: 0



The tendency of working hard for the ‘fun of it’ creatively and for the satisfaction that
comes from the mastery and deep understanding of a problem comes from

(i) Exploration needs
(ii) Curiosity
(iii) Effectance motivation

(iv) Internal locus of control

Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii) are correct
91394313605,

Only (i) and (iv) are correct
913942136086,

Only (iii) is correct
91594213607,

Only (i), (ii) and (iii) are correct
91394313608,

Question Number : 102 Question 1d : 9139433463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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m T
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Question Number : 103 Question Id : 9139433464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Patterns of familial transmission of intelligence from one generation to other is investigated
in

Options:

Linkage analysis studies
91942313609

Adoption studies
Q1294212610
91394313611 -seciation studies

5 ation analysis studies
Q1=94212612. CBTeE y

Question Number : 103 Question Id : 9139433464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Reciprocal determinism is an interaction between which of the following ?

Options:
91394313613, Person and his environment
91394313614, Person and his behaviour

51294213615, Person’s behaviour and his environment



Person, his behaviour and his environment
Q159421 2616.

Question Number : 104 Question Id : 9139433465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91394313613, N S IEH o
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Question Number : 105 Question Id : 9139433466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The information processing approach is rooted in structuralism.

Reason (R): It attempts to identify the basic capacities and processes that one uses

in cognition.
Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21394213617,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
21294213618,

(A) is true, but (R) is false.
91394213619,

(A) is false, but (R) is true.
91394213620,

Question Number : 105 Question Id : 9139433466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 106 Question Id : 9139433467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : While scaling the attitude items (statements) by the method of equal
appearing intervals, median is often used as the measure of scale values.
Reason (R): The distribution of categories, assigned by the judges, is skewed for several
items.
Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91594313621,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q159423132622

(A) is true, but (R) is false.
Q13943132623

(A) is false, but (R) is true.
91234513624,

Question Number : 106 Question Id : 9139433467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar & |
Q1394212621 ﬂ‘ﬁi?tﬁﬁ Hﬁ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394313622,

(A) TE B, (R) Teid 2 |
91394313623, A

(A) Ted B, (R) @&t 2 |
Q1294212624 e

Question Number : 107 Question Id : 9139433468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Concepts are used to solve problems as well as to think creatively.

Reason (R): Concepts are useful for identifying objects and saving us from learning the
same thing time and again.
Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394313625,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294312626

(A) is true, but (R) is false.
B1334513627.

(A) is false, but (R) is true.
9129431323628,

Question Number : 107 Question Id : 9139433468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(A) #(R) 9T (R), (A) 1 Tt =g & |
91394313625, = w &

(A) 3 (R) g1 &t &, =g (R), (A) it Tt s 78 2 |
91394313626,

(A) Tt B, (R) Tefd & |
91394313627, A

(A) Ted ®, 9g (R) 9&t 8 |
Q139421 3628,

Question Number : 108 Question Id : 9139433469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : New employees in organizations generally lack quality threshold
performance.

Reason (R): The confusion and disorientation is experienced by many newcomers to an
organization.
Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394213629,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294312620

(A) is true, but (R) is false.
H91334513621.

(A) is falze, but (R) is true.
915394212622,

Question Number : 108 Question Id : 9139433469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(A) 3 (R) 9T (R), (A) i T8t =amEar & |
Q13942136249 ﬂ‘ﬁi?tﬁﬁ Hﬁ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394313630,

(A) TE B, (R) Teid 2 |
91394313631, A

(A) Ted B, (R) @&t 2 |
Q1294213622 e

Question Number : 109 Question Id : 9139433470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Self-actualizers can be characterised as
(i) Having more efficient perception of reality.
(ii) Showing greater acceptance of themselves, others and nature.

(iii) Having tendency to be more concerned with understanding tasks that will benefit
themselves.

(iv) Recognising their own weaknesses but do not being so anxious of them.

Choose the correct answer from the code given below :
Code :

Options:

(1) and (ii) are correct, (iii) and (iv) are incorrect.
91394312633,

(iii) and (iv) are correct, (i) and (ii) are incorrect.
Q13943132634

(1), (ii) and (iii) are correct, (iv) is incorrect.
Q1294312655

(i), (ii) and (iv) are correct, (iii) is incorrect.
Gl1294321 2638,

Question Number : 109 Question Id : 9139433470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91394313633, ih 7§, (i W ¢
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91394313634, W, d t &
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Question Number : 110 Question Id : 9139433471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which kind of bureaucracy operating core is considered as the dominant group ?
Options:

Adhocracy
215942136357,

Professional bureaucracy
91394313638,

Machine bureaucracy
91394213639,

91394313640, Divisionalized strueture

Question Number : 110 Question Id : 9139433471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 111 Question 1d : 9139433472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are correct according to “levels of processing approach™ 7

(i) Recall of words with visual characteristics is better than words with semantic
characteristies.

(ii) Recall of words with self-reference is better than words with sematic characteristics.
(iii) Recall of words with semantic characteristics is better than words with self-reference.

(iv) Recall of words with semantic characteristics is better than words with acoustic
characteristics.

Choose the correct answer from the code given below :
Code :
Options:

91334513641, () and ci)

91394313840, D and (i

(iii) and (iv)
91234513643,

(ii), (iii) and (iv)
291594213644,

Question Number : 111 Question Id : 9139433472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“dehauT UMY % Tl o oEn Fefafa d 4 S wd € 2
(i) =negy s aret wedl 1 e yegre-fawas sfirai are wegi i qer # Sedt e # |
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(iv) mﬁm Ffireragoll aTet Yegl 1 [TV AT SAfheavil aTet yegl i gerl § aga
|
Fr R T g2 # @ v Im R TP
% :

Options:



(i) 3 (id)
91394213641,

(i) ¥ (idi)
91394313642,

(iii) 3 (iv)
91394313643,

(id), (i) 3 (iv)
91394313644,

Question Number : 112 Question 1d : 9139433473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List I with List II and select the correct answer using the code given below :

List I List IT
(Attachment theory) (Attachment related behaviour)
(a) Psychoanalytic theory (i) Caregiver's responsiveness to infant’s hunger and
other basic needs
(b) Learning theory (ii) Feeding and responsiveness to infant's needs

(c) Cognitive development theory (iii) Infant discriminates between caregiver and stranger

(d) Ethological theory (iv) Infants have characteristics that elicit attachment
from caregivers

Code :
Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91334213645,

(a)—(i), (b)—ii), (e)—(iii), (d)-iv)
91234213646,

(a)—(i), (b)—(iii), (e)-ii), (d)~(iv)
91234213647,

(a)—(ii), (b)—(iii), (e)~iv), (d)—(i)
H91334513645.

Question Number : 112 Question Id : 9139433473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)ii), (b)—(i), (e)(iv), (d)iii)
912394313645,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394313646,

(a)—(D), (b)—(iii), (e)-(ii), (d)—iv)
91234213647,

(a)—(ii), (b)), (e)iv), (d)—(i)
912394213648,

Question Number : 113 Question Id : 9139433474 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Mateh List I with List IT and select the correct answer using the code given below :

List I List IT
(Concept) (Description)
(a) Fetishism (i) Sexual urges and arousing fantasies involving cross-dressing
(b) Necrophilia (ii) Sexual arousal or fantasies about or actual use of non-living
objects
(¢) Frotteurism (iii) Sexual urges involving touching or rubbing a non-consenting
person

(d) Transvestic fetishism (iv) Sexual obsession with corpses
Code :
Options:

(a)—(i), (b)—(iii), (e)—(ii), (d)—iv)
91394313649,

(a)—(ii), (b)—iv), (e)(iii), (d)—(i)
91234213650,

(a)(ii), (b)—(iv), (e)-(i), (d)iii)
91394313651,

Yes



(a)—(ii), (b)—(1), (e)—(iid), (d)—iv)
91394313652,

Question Number : 113 Question Id : 9139433474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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H:
Options:

(a)—(i), (b)—(iii), (e)—(ii), (d)—(iv)
91394313649,

(a)—(ii), (b)—(iv), (e)(iii), (d)—(i)
91394313650.

(a)(ii), (b)—iv), (e)i), (d)iii)
91294213651,

(a)—(ii), (h)—(i), (e)—(iii), (d)—(iv)
91394313652,

Question Number : 114 Question Id : 9139433475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Creative thinking is a combination of in thinking and in understanding
to produce ideas and
Options:

reorganization, flexibility; new, solutions
Q1294312653

flexibility, reorganization; innovative, solutions
912394212654,

flexibility, reorganization; novel, solutions
Q912943123655

flexibility, reorganization; abstract, solutions
Q1594212656

Question Number : 114 Question 1d : 9139433475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

JAEA, AR, Y, HHTETE
H91334513653.

91394313654,

H91334513655.

91334513656,

Question Number : 115 Question Id : 9139433476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The rapid changes in performance level as the size of reinforcement is varied is called
Options:

Spread of effect
91394313657,

Crespi effect
91394213658,

91394313650, Teminiscence effect

91394313660, Lnstinctual drift

Question Number : 115 Question Id : 9139433476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TaeA = ATHL H Ht = a1y Feaes = 8 g9 9 e gfEmdq FEema
Options:
91394313657, T i

91334513658,

aegfa wwra

91234513659,



AT Fw

91334513660,

Question Number : 116 Question Id : 9139433477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The following are all involved in hunger and eating process :

(i) Lateral hypothalamus
(ii)  Ventral hypothalamus
(ili) Amino acids

In what sequence do these act ?

Options:

(iii), (1), (ii)
H1334Z136E1.

(1), (1ii), (ii)
91334513662,

(1), (11}, (1ii)
91334513663,

(1ii), (i), (i)
91334513664,

Question Number : 116 Question Id : 9139433477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

@ 3 wegor weemvr § Freafafiga ot sl €4 2 -
(i) urvd SuvEds

(i) 3THL TTETH
(i) Y e

% form argpm | form & § 2

Options:

(i), (1), (ii)
91334513661,

(1), (1i1), (ii)
91334513662,

(1), (i), (1ii)
H913345136E63.

(iii), (i), (i)
291594213664,



Question Number : 117 Question Id : 9139433478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Spearman proposed the existence of general mental ability (G factor) in his
two-factor theory.

Reason (R): Spearman found positive manifolds in the intercorrelations matrix of
ability tests.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21594213665,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91594313666,

(A) is true, but (R) is false.
G13942312667.

(A) is falze, but (R) is true.
Q129431 2668,

Question Number : 117 Question Id : 9139433478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 118 Question Id : 9139433479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Humanistic approach to personality is characterised by

(i) Emphasis on personal responszibility

(ii) No denial to importance of past, but more focus on present
(iii) Description of naturally striving persons

(iv) Description of individual differences along some dimensions

Choose the correct answer from the code given below :
Code :
Options:

(i) and (ii) are correct; (iii) and (iv) are incorrect.
9123942315669,

(iii) and (iv) are correct; (i) and (ii) are incorrect.
A1394312670.

(i), (ii) and (iv) are correct; (iii) is incorrect.
91394212671,

(i), (ii) and (iii) are correct; (iv) is incorrect.
Q1394313672

Question Number : 118 Question Id : 9139433479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(i) 31T (ii) : (iii) 3 (iv) Terd & |
91394313669, i) 7 & (i W &
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91394313670, V) Tl E; G 1 ¢
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Question Number : 119 Question Id : 9139433480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List II and choose the correct answer using the code given below :
List I List IT

(a) Moon illusion effect (i) Monocular cue

(b) Aerial perspective  (ii) Relative size hypothesis

(¢) Ponzo effect (iii) Binocular cue

(d) Convergence (iv) Optical illusion

Code :

Options:

(a)—(i), (b)—ii), (e)—(iii), (d)-iv)
91534213673,

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
91394313674

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
H1334513675.

(a)—(iii), (b)—~(1), (e)—{ii), (d)~(iv)
91334213676,

Question Number : 119 Question Id : 9139433480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)—(i), (b)—{ii), (e)—(iii), (d)—(iv)
91334213673,

(a)—ii), (b)—(iii), (e)-{iv), (d)—~1)
91394313674,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91594213675,

(a)—(iii), (b)—(1), (e)—ii), (d)~(iv)
91324213676,

Question Number : 120 Question Id : 9139433481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Vacillation of thought and behaviour’ is associated with the following types of conflicts :

Options:
Approach-approach and approach-avoidance
21394213677, PP PP PP
Approach-approach, approach-avoidance and multiple approach-avoidance
91394312678, PP PP PP ple app
Approach-avoidance and avoidance-avoidance
91394213679,
Avoidance-avoidance, approach-avoidance and multiple approach-avoidance
91394213680,

Question Number : 120 Question Id : 9139433481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘e offt saaer 1 amit-die e Frafafaa fea wen & sfadgl @ g1 g & 2

Options:

FITH-IYTH 3 FArTH-afEn
491394313677

FINTH-ITH, FITH-TMER I Tge IMH-IFER
41394313678,

Farm-gfEr st gfenr-ufEr
91394313679,

aftgr-ften, Iarm-afEn ot aga Imm-fEr
91394313680

Question Number : 121 Question Id : 9139433482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Interpersonal justice refers to judgements concerning the and
individuals are shown by parties responsible for distributing available to
members of a group.
Options:
considerateness, courtesy, incentives
91394213681,
courtesy, considerateness, rewards
21394213682,
considerateness, courtesy, rewards
915943136535,

courtesy, considerateness, incentives
91Z943213654.



Question Number : 121 Question Id : 9139433482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 122 Question 1d : 9139433483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Frankl described death as a boundary situation, an urgent experience that
forces a person to deal with an existential situation.

Reason (R): The boundary situation provides deep meaning for the individual.

Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
913942312685,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913942132686,
(A) is true, but (R) is false.
9123942312687,
(A) is false, but (R) is true.
91394315688,

Question Number : 122 Question Id : 9139433483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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91394313687, A

(A) Ted B, (R) @&t 2 |
Q129421 2688, e

Question Number : 123 Question Id : 9139433484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The best home environment for intellectual development is one in which
(i) Child is encouraged to work out problems with guidance and support from parents.
(ii) Parents tell the child what to do.
(iii) Child is left on his or her own.
(iv) Child is facilitated more than required.

Choose the correct answer from the code given below :

Code :
Options:

Only (i)
91394313639

2915334213630, () and (i)

(iii) and (iv)
91234513691,

(i), (ii), (iii) and (iv)
912345136392,

Question Number : 123 Question Id : 9139433484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aitfige fara g 4ee e wiew 98 & waf
(i) wren-fren & wrfee off wEraa & = it THen w1 ga Fewrer g Sreatfad fR S @

(i) Hrar-fudt a4 <t 98 Fard & o6 38 = o =fae )
(iil) ==t i M- & Bre fom e B |
(iv) o= I ATEGvIH B ik Taraar € et |

fr= e 2 # & @ I H g
C T

Options:

Fad (i)
91394313689

(i) 3 (ii)
91394313690,

(iii) 3 (iv)
91394313691,

(i), (iD), (iil) 3 (iv)
Q1394213092

Question Number : 124 Question Id : 9139433485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Neurons make up only about percent of the brain’s cells and other
percent are glia cells.

Options:

80 percent; 20 percent
91294213693, pe pe

10 percent; 90 percent
91394213694, pe pe

20 percent; 80 percent
913943136595, pe pe

90 percent; 10 percent
91294313896, pe pe

Question Number : 124 Question Id : 9139433485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
nferss Sifierrad & wftrara whrerr sifirprd v wftrer freram wifirnd gt &

Options:

80 gfersra: 20 wfowm
91394313693,



0 wfeemE; 90 gl
91394313694,

20 wfersr: 80 i
91394313695,

90 wfewm: 10 wfewm
91394313696,

Question Number : 125 Question Id : 9139433486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In matched two-group design with 30 subjects per group, the *t' test would be based on
degrees of freedom.

Options:

91334313637, 29

91334513695, 30

9133451365945,

2915334213700,

Question Number : 125 Question Id : 9139433486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ﬁnﬁﬁ-mﬁﬁwﬁsuﬁqﬁ%ma@ﬁ‘a’wﬂm T Hifedt v s
|

Options:

91394313897, 2

91394313698, 0

91394313699, 0

91394313700, O

Question Number : 126 Question Id : 9139433487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Electrical stimulation of brain is considered to be a more important research
tool than lesion method.

Reason (R): Electrical stimulation elicits a few behavioural effects which are easy to
record.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394313701,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294212702

(A) is true, but (R) is falze.
Q13943213703

(A) is false, but (R) is true.
Q1294212704

Question Number : 126 Question Id : 9139433487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= 31 s feu o 8, formd @ us arfirper (A) @ 3 g@o 7% (R) B | Sl =t afen sl = fag mo
Fe I TAM FHE I A |
sfirea (A) :  Taafa fafl & gon & wfers 3 fagda sdw =t sifies Teepd sEgam sgwo

T T R |
T (R) : gt dtvm & $o syagnas wiTE wed g & e o e amEE R )
Hhe:
Options:
91594315701 (A) 3 (R) ST @t & a9 (R), (A) 6t 98t samean # |
(A) 3R (R) 31 &#t &, g (R), (A) i Gt sarean 7 # |
91394313702
A \ R Ted & |
413943213703 W7 R, 7T (R ¢
A) T 7, R I
91394313704, W AL

Question Number : 127 Question Id : 9139433488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The basic rules of language used for learning and communication comprise of

(i) Phonemes

(ii) Morphemes

(iii) Syntax
(iv) Speech
Choose the correct answer from the code given below :
Code :
Options:
(i), (ii) and (iii)
215394213705,
(i), (iii) and (iv)
91594213706,
(ii), (iii) and (iv)
91394313707,
(i), (ii) and (iv)
215394213708

Question Number : 127 Question Id : 9139433488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

dre ot gom & for s v % gengg Fram fefafag a s @ &

(i) w&fm
(i) ®fm
(i) =rea-fa=amam
(iv) 9T
Fr= fow me 5 7 @ ot I W g
C T
Options:
(1), (ii) 3 (i)
913943137065,
(1), (iii) 37 (iv)
91394313706,
(ii), (iii) 3 (iv)
91394313707,
(1), (ii) 3 (iv)
91394313708,

Question Number : 128 Question Id : 9139433489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In response to questions asked by teachers, Ayan keeps jumping up with a raised hand on
his seat till the teacher asks him to get up and answer. He also remains uneasy. Which is
the most appropriate way of dealing with Ayan by the teacher 7

Options:

Didactic counselling to explain why this is a bad habit
91394313709

Shapin
Q91=294212710. ping

Response cost form of punishment
215394213711,

91394313710 L xunction

Question Number : 128 Question 1d : 9139433489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frerent g g o Sl % wegee #, e A Hie WAy 39 g0 99 a% Joed e @ Wa a6 6
finerer 38 @2 g 3 3 % fore 98 ed § | 98 99 7 tear @ | Fiers g0 9T % 0 sgeER ©
e %1 gadt sifies oy ol w2 2

Options:

0159431370, et ITEEE, T8 T 0 o+ v o 98 v @ue Fga #=6 8

FrfrF

91334313710,

48 # Ffsan @rTd w9
91394313711,

91234513712,

Question Number : 129 Question Id : 9139433490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and select the correct answer using the code given below :

List I List I1
(Content) (Test)
(a) Addiction Potential Scale (i) MMPI-A
(b) Aleohol Drug Knowledge Scale (i) MMPI - 2
(e) Self-defeating Scale (iii) Rorschach Inkblot Test
(d) Economy Index (iv) Millon Clinical Multiaxial Inventory
Code :

Options:



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91234213713,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91234213714,

(a)—(iii), (b)—(iv), (e)-(i), (d)—(ii)
912334513715,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91334213716,

Question Number : 129 Question Id : 9139433490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1%t gt 118 gefera |ife 3 fi= fag mo §2 = i w1 g wd 3w gii

et 1 et I
(Fora-=wg) (witgror)

(a) =@+ amme Aret (i) wmumdam —u
(b) UFhiEla g0 79 AT (i) umumdftemd - 2
(¢) ATCH-9I9E HTI (i) Tt =mEt wean wligror

(d) forwraa gaes (iv) oo Sgrfe sggdta sfigsh
C T

Options:

(a)—(i), (b)—{ii), (e)—(iii), (d)—(iv)
91334213713,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91234213714,

(a)—(iii), (b)—(iv), (e)-(i), (d)—(ii)
912334513715,

(a)—(iv), (b)—(iii), (e)(ii), (d)—i)
91334213716,

Question Number : 130 Question Id : 9139433491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is Piaget's term for a child's uneven cognitive performance, an inability to solve
certain problems even though one can solve similar problems requiring the same mental
processes 7

Options:

91394313717 ‘¥ net-Berror

Invariant developmental sequence
91394213718,



Horizontal décalage
91394312719,

Representational insight
Q1394313720 P S8

Question Number : 130 Question 1d : 9139433491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ueh T 1 AEH AT Fr-frearga, |t R awenet @ gm0 8 swmd 2, safs a8 3
TR <t aTefie uisranedt areft =g auEmaT & gaaE ol 8, i REm s am e g 0

Options:

A-—TE-B3f
91394313717.

e fawma wn (saftere Saawiees Heea)
91394213718,

guEait gamey (gifeea deem)

9123345137149,

913943213720, i (6 )

Question Number : 131 Question Id : 9139433492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Super has given the following stages in his theory of career development and counselling.
These are

(i)  Establishment
(ii) Maintenance
(ili)  Decline

(iv) Exploration
(vl Growth

What is the correct sequence of these stages 7
Choose the correct answer from the code given below :

Code :
Options:
(v, (1w), (1), (i), (iii)
291394213721,
(1), (id), (iv), (w), (iii)
21394213722,

(iw), (1), (w), (id), (iid)
91394313723



(1), {iw), (w), (1i), (1)
91334513724,

Question Number : 131 Question Id : 9139433492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 3 Hiew fawm ot syt (Ivays) & e fage ° Feafofes s s g 13 8

(i) TATYE
(i)  STE
(i) BE
(iv) 3f=aaoy
vy w@afg
O W AR R R ?
fre e e & & @ I w g
% :
Options:

(v, (iv), (1), (ii), (iii)
91394313721,

(1), (i), (iv), (v), (iii)
91394313722

(i), (1), (v), (ii), (iii)
91394313723

(1), (i), (v, (ii), (iii)
91394313724,

Question Number : 132 Question 1d : 9139433493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List I with List 1T and select the correct answer using the code given below :
List I List IT
(Term) (Description)
(a) Prudence (i) Undergoing hardships for their benefit
(b) Justice (ii) Controlling disruptive emotions and practicing self-discipline
(¢) Fortitude (iii) Fulfilling obligations to parents and respecting their rights
(d) Temperance (iv) Using reason for their benefit

Code :
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234213725,

(a)—(iii), (b)—(iv), (e)—(ii), (d)—(i)
91594213726,



(a)(iv), (b)—(iii), (e)~(1), (d)—(ii)
91394313727,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394313728,

Question Number : 132 Question 1d : 9139433493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ot [t gt 118 gafea i o = fae T e 1 wn s ge ad I 9hi

T 1 T 11
() (foraron)

(a) GEAIAT () 19 WG o fore sHfgmeat & Taen

(b) =™ (ii) ferrerarrlt et =t Frafim o offt sreamaemes &1 sremg e

() dfiwar (i) wran-far & wfa gifcat & qfd s it 3o stfuerd @1 gwima e
(d) Framem  (iv) o7 g o fere ek o IwEn e

Options:

(a)—(i), (b)ii), (e)—(iii), (d)-iv)
91594213725,

(a)—(iii), (b)—(iv), (e)(il), (d)—i)
91334213726,

(a)—(iv), (b)—(iii), (e)—~(i), (d)—(ii)
91394313727,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394313728,

Question Number : 133 Question 1d : 9139433494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Raphe Nuclei are most closely related to neurotransmitter.
Options:

Epinephrine
91394213729,

91394313730, Seretenin

Norepinephrine
91394313731,

Glycine
91394213732,



Question Number : 133 Question Id : 9139433494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
% s 1 Aftehie: wfise day it T (~giteraHiet) @ 2T & |
Options:

T

91334313729,

91334513730,

291594213751,

SIHEE

2153942137352,

Question Number : 134 Question Id : 9139433495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Thurstone labelled his theory of intelligence as theory of primary mental
abilities.

Reason (R): Thurstone found more than two first-order factors of intelligence through
orthogonal rotation.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394313735

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594212724

(A) is true, but (R) is falze.
Q1294313735

(A) is falze, but (R) is true.
Q129431327326

Question Number : 134 Question Id : 9139433495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= 31 s feu o 8, formd @ us arfirper (A) @ 3 g@o 7% (R) B | Sl =t afen sl = fag mo
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Options:

(A) # (R) 9T (R), (A) 1 T2t =g & |
91394313735 = el &

(A) 3R (R) ST 58t ¥, g (R), (A) 1 g&t =ame 7 2 |
91394313734,

(A) T B, (R) Tefd & |
91394313735, A

(A) T 2, (R)TE 2|
Q1=394=21=27=E6. m

Question Number : 135 Question Id : 9139433496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In multiple regression, the b or P coefficient associated with a given predictor
is sometimes statistically non-significant, although the correlation between
the criterion and the given predictor is significant.

Reason (R):  In multiple regression, the b or P coefficients are partial regression coefficient

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394213737,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
2153942137358,

(A) is true, but (R) is false.
Q1294212729

(A) is falze, but (R) is true.
Q1594212740

Question Number : 135 Question 1d : 9139433496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



(A) 3 (R) g1 a9T (R), (A) i @&t sqmean
91394313737, ¢ ad ¢

(A) 3f (R) AT 5t €, Tg (R), (A) it Tt =amen 78 & |
91394313738

(A) @ %, T (R) 7T 2 |
912394212739,

(A) TTid 8, g (R) Gt & |
91394313740,

Question Number : 136 Question 1d : 9139433497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
such as believe that depth perception is innate.
Options:

Empiricists, Descartes
91Z943213741.

Nativists, Descartes
91294313742,

Empiricists, Berkeley
913324513743,

Nativists, Berkeley
91394313744

Question Number : 136 Question Id : 9139433497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

GE] o1 favara & & meug %1 yegeor st=qwia & 7

Options:

$feamgyaaTdt, S

91334513741

AaeRarardt, ST

91334513742

fEAvEaTe), W

B91384513743

AafeRarardt, aehet

91334513744

Question Number : 137 Question 1d : 9139433498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT and select the correct answer using the code given below :

List I List IT
(Tests) (Concept)
(a) Block design (i) Perceptual reasoning
(b) Similarities (ii) Comprehension
(c) Matrix task (iii) Simultaneous processing
(d) Sentence questions  (iv) Successive processing
Code :
Options:
(a)—i), (b)—(ii), (e)=(iii), (d)—(iv)
91594313745,
(a)(ii), (b)—(iv), (e)—(i), (d)—(iii)
91394213746,
(a)—(iii), (b)—(i), (e)-(iv), (d)—(ii)
291394213747,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(D)
91594313745,

Question Number : 137 Question Id : 9139433498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et 1t gt 118 gefea $ife i = fag 7o e 1w s e wd 3w w5 9h

T T
(afteror) (r=amom)
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% :
Options:
(a)—(1), (b)—(ii), (e)—(iii), (d)—(iv)
91394313745,
(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
91394313746,
(a)—(iii), (b)—(1), (e)~(iv), (d)—(ii)
91394313747
(a)—(iv), (b)—(iii), (e)~(ii), (d)—(i)
91394313748,

Question Number : 138 Question 1d : 9139433499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT and select the correct answer using the code given below :
List I List IT
(Books) (Authors)

(a) The Analysis of the Self (i) Maszlow

(b) Motivation and Personality (ii) Kohut

(c) Freedom to Learn (iii) Rollo May

(d) Man’s Search for Himself (iv) Rogers

Code :
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334213749,

(a)(iii), (b)—(iv), (e)-i), (d)—(ii)
91234213750,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91294213751,

(a)—(iv), (b)—(iii), (e)(ii), (d)—i)
91324213752,

Question Number : 138 Question Id : 9139433499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334213749,

(a)(iii), (b)—(iv), (e)-i), (d)—(ii)
91234213750,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91294213751,

(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
H1334513752.

Question Number : 139 Question Id : 9139433500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : As one enters a dimly lit room after being exposed to bright light, retinal rods
become more sensitive.

Reason (R): Dark adaptation enables a person to see in dim light.

Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91594313753

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q91594212754

(A) is true, but (R) is falze.
Q1394313755

(A) is false, but (R) is true.
Q12942132756

Question Number : 139 Question Id : 9139433500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(A) 3 (R) 9T (R), (A) i T8t =amEar |
Q1394213753 fFﬁ'E'gﬁﬁ @ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394313754,

(A) TE B, (R) Teid 2 |
91394313755, A

(A) Ted B, (R) @&t 2 |
Q1294212758 e

Question Number : 140 Question Id : 9139433501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are the mnemonic devices ?
(i) Categorical clusters
(ii)  Peg-word system
(iii) Method of loci
(iv)  Heuristic
Choose the correct answer from the code given below :
Code :
Options:

(1) and (ii)
Q1394212757

(1), (i) and (iii)
91334513758,

(i), (ii) and (iv)
91334513759,

(1), (ii), (iii) and (iv)
91234513760,

Question Number : 140 Question Id : 9139433501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Prefefaa § & 9.8 w0 an (=g farsd) § 2
(i) whifesn wpdiRo (Hemfera woed)

(i) =g ughy
(i) A Fw fafy (fus e )
(iv) FYUITeH

¥ g e g2 @ I R SR
% :
Options:

(i) 3 (id)
91394313757,

(1), (i) 31 (iid)
91394313758,

(i), (ii) 37 (iv)
91394313759,

(i), (iD), (iii) 3T (iv)
91394213760,

Question Number : 141 Question Id : 9139433502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Academic achievement had a multiple correlation of 0-65 with the three predictors —
intelligence, achievement motivation and socio-economic status. How much variance in
academic achievement is explained by the three predictors ?

Options:

35-00 percent
91334513761,

42-25 percent
91334513762,

57-75 percent
91334513763,

65-00 percent
91334513764,

Question Number : 141 Question Id : 9139433502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

it gedererat — g, Iuafelr sifitm st arnfos-anfis feafa % wy sl vafer #1065 %
agfay Heday A1 | $ 1 ERAH g1 AHGHH Iqated § Fraan wer e gt 2 2

Options:

a1394313761, 3000
a139431376p, 1225 SR
91394313763, 57-75 Sfowra
91394313764, 0500 R

Question Number : 142 Question Id : 9139433503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the correct sequence of products in Guilford's SOI model ?

Options:

Unit — Class — Relation — System — Implication — Transformation
91394213765,

Class — Unit — System — Relation — Transformation — Implication
21394213766,

Unit — Class — Relation — System — Transformation — Implication
91394213767,



Unit — Relation — Class — System — Transformation — Implication
91394313768,

Question Number : 142 Question Id : 9139433503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
firersd & um. 3t o1d. wize & Jeurci W AS FH TR ?

Options:

g — T - Gaw - gt - Ffgay - s

91334513765

ﬁaﬁlﬁ—)ﬁﬁl‘aﬁﬁﬂ—)maﬁﬁm‘f

2915334213766,

Wlﬁaaﬁ—:ﬁiiﬂ—:ﬁﬁ‘—}maﬁﬁm‘f

215394213767

TS — T — 91 — ugfa — wumawr — Ffgard

B13345137ER

Question Number : 143 Question Id : 9139433504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are the methods used in studying verbal learning ?

(i) Serial learning

(ii) Paired-associate learning

(iii) Verbal discrimination learning
(iv) Free recall

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii)
D1394213769.

(i), (ii) and (iii)
91394313770,

(i), (ii) and (iv)
91394213771,

(i), (ii), (iii) and (iv)
21394213772,

Question Number : 143 Question Id : 9139433504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafafiaa 4 @ w8 aifas sifetrm 4 oy fafiaf € 2
(i) itk arfemm

(i) Ffora-ma=t o

(i) arfees %g wferm

(iv) ¥ FeATRH

Hr feu T g & | W I w9

% :

Options:

(i) 31 (i)
Q13942137 649,

(i), (ii) 37 (iid)
91394313770,

(1), (i) 31 (iv)
91394313771,

(i), (iD), (iii) =M (iv)
91394313772

Question Number : 144 Question 1d : 9139433505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Myelin Stains and Nissl Stains identify and respectively.

Options:

Neural pathways; Neural cell bodies
91394313773

Neural pathways; White matter
91394213774,

Neural cell bodies; Neural pathways
21394213775,

Nueclei; Neural cell bodies
Q1294212776

Question Number : 144 Question Id : 9139433505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
arsfer vea qu1 free v s GEl =1 Ao @ §

Options:

eI o), dh Hift fra (e ¥ T
91394313773, (e re); (7 )



91394313774, A T (=L Ta); ¥ 5 (ST )

91394313775 dfi Fft P (e e aid); dfe v (g nee)

91394313776, o (ferars); b Fifiew fea (7 de )

Question Number : 145 Question Id : 9139433506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Rules within a language indicating how words can be combined into meaningful sentences
refer to

Options:

Semantic development
91394213777,

Phonological development
Q13943212377 8. oB! P

91394313779, Crammar

Babbling
291394213780,

Question Number : 145 Question Id : 9139433506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

uh 9191 < Wit & 9 P feaes gias 20 8 9t 9 guria & T form veem wregl <6t wnefs it & @t
forer foram o weha 2 2

Options:

91334513777,

91394313778 - i

913345137735,

291234513780,

Sub-Section Number: 4
Sub-Section Id: 913943174
Question Shuffling Allowed : Yes



Question Id : 9139433507 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Instructions. Read the following paragraph and answer the five questions which
follow.

A researcher working in the vocational interests surveyed different interest assessment tools
and after a eareful scrutiny selected 68 scales presumably covering all areas of vocational
interests. He administered all these scales to a large sample (N = 750). The researcher
correlated every scale with every other scale and obtained 68 x 68 correlation matrix. The
68 x 68 correlation matrix, without altering any of the diagonal elements, was factor
analyzed and the unrotated factors were extracted. The Cattell's scree suggested

11 factors, where as Kaiser-Guttman’s root = 1 criterion suggested 14 factors for further
rotation. The eleven factors explained 72 percent of variance. The eleven factors were
varimax-rotated. After examining the results and discussion, the researcher decided to carry
out the second-order factor analysis. He, therefore, re-rotated the eleven factors and found
that some of the inter-factor correlations were fairly high. The second-order factor analysis
suggested three second-order factors which were fairly interpretable.

Sub questions

Question Number : 146 Question Id : 9139433508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following factor extraction methods have not been used in the above work
while extracting the first-order factors ?

(i) Principal axes method

(ii) Principal components method

(iii) Maximum likelihood method

(iv) Generalized least squares method

Choose the correct answer from the code given below :

Code :

Options:

(1) and (iii)
Q12943132781

(ii) and (iii)
Q1594212752

(iii) and (iv)
Q1294313783

(i), (iii) and (iv)
Q1394212754

Question Number : 147 Question Id : 9139433509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In the above work, the researcher preferred Cattell’s scree-plot over
Kaiser-Guttman’s root = 1 criterion.

Reason (R): Even with a small number of variables, Kaiser-Guttman’s criterion always
leads to the extraction of more factors, as compared to Cattell's scree.

Code :
Options:
Both (A) and (R) are true and (R) iz the correct explanation of (A).
215394213785,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91594313756,
(A) is true, but (R) is false.
91394313767,
(A) is false, but (R) is true.
215394213788,

Question Number : 148 Question Id : 9139433510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In the above work, the researcher preferred Cattell’s scree over
Kaizer-Guttman's root > 1 criterion.

Reason (R): The angles of separation among varimax-rotated factors are non-ninety.

Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394212789,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
9123942312790,
(A) is true, but (R) is falze.
9123942312791,
(A) is falze, but (R) is true.
Q129432132792

Question Number : 149 Question Id : 9139433511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During re-rotation of the first-order factors, which of the following methods is/are likely to
have been used ?

(i) Oblimin
(i) Promax
(iii) Quartimax
(iv) Eguamax

Choose the correct answer from the code given below :

Code :

Options:

Only (i)
91394313793,

(i) and (ii)
91394313794,

(iii) and (iv)
91394313795,

(i), (iii) and (iv)
91394313796,

Question Number : 150 Question Id : 9139433512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The three second-order factors would explain of the variance among 68 scales.
Options:
less than 72 percent
9123345137397,
72 percent
B913345137395. pe
more than 72 percent
91334313739,
100 percent
91334513800,

Question Id : 9139433507 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension
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Sub questions

Question Number : 146 Question Id : 9139433508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TYH-EAL & Fh Wed Fid gHg 39w wrd § Frefafaa 4 @ e wne wifta fafeet @ swm
e fFm T 2 2

(i) wur we (Fifioe vfeas) fafa

(i) wam wisate (e weaeee) fafy
(iii)  2Afermem Gwran (AfFaem wmgecige) fafa
(iv) o=t =gan = fafy

fre few o g2 & & wdt I w9

C T

Options:

(i) 3 (iid)
91394313781,

(i) 311 (iid)
91394313782

(iii) 3 (iv)
91394313783,

(1), (iii) 37 (iv)
Q13942137 E4,

Question Number : 147 Question Id : 9139433509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fr= gt wue fog e 8, T @ arfirrem (A) @ o g 9% (R) @ 1 el =t afge ik e feg e
Fe I TEM FHE I g |
e (A) ; 37 FH #, STEIFHA 3§ T 09 > 1 7HgE $ 9 Fee F Bl S
Fftmm g foram |
T (R) : =T N HH TEA % TG Heed Thi H A H FH-TEHA WS g Hia s Fweh
oTed & § |
% :
Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394313785, = e ¢

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394313788,

(A) Tt B, (R) Tefd & |
91394313787, h

(A) T 2, (R)TE 2|
Q12942127 EE. m

Question Number : 148 Question Id : 9139433510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A= g ua for e B, T & o i (A) R i g0 96 (R) @ | Sl i afen sfi e fan o
Fe I TEM FEE I g |
mrm:ﬁmﬁ,mﬁ%m-m@a 1 AHgs 6t go1 | Sea Bht it Tfomm wer
|
T (R) : Afciten ool wret # fagfe % o a8 78 a1
C T
Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar & |
Q13942137 E9, ﬂ‘ﬁi?tﬁﬁ Hﬁ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394313790,

(A) TE B, (R) Teid 2 |
91394313791, A

(A) Ted B, (R) @&t 2 |
Q12942132792 e

Question Number : 149 Question Id : 9139433511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



yy-tala wrent % v A, Feafafas 4 @ Gofe Rt & smm frrmn g 2
() Aifeerfia

(i) side"

(i) wEféden

(iv) goaTdey

Hr feu T g & | W I w9

% :

Options:

Fad (i)
91394313793,

(i) 3t (ii)
Q12394212794

(iii) 3 (iv)
91394313795,

(id), (iii) 3 (iv)
91394313796,

Question Number : 150 Question Id : 9139433512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i fg-walra wn 68 yufi 4 & wrert (Sfg) hr sarE 5 |
Options:

9123345137397, 72 T

913345137398, 7

9123345137399, 7 a

H91334513800, 100



